
� � � � � � � �	
�

������	���
�����
�����

�������������������������

�������� �!!"#$"�%$��&!��$���'�!�($����$))$�*��

+�����,� -�.+
/�

�� 
��0+���,���
���1��� -2
3� �� ��+43/�

���5�"��5��6�7%��68�9:�;6"6�%��-:���567���67%�&��
%�6��:;��<=��7�<������ �>:?@�&�5A�BCD�

567��<=�%�9�=:�6><=�%� �5EF��67%G��567���
H=G>�I�%�5?>:J��H <K�%�5?>:J��H��">65J�%�H&6����7J��

HG6@�IFJ�%�HG>EIFJ��%�%��:G����&����">65�$  
+�24
�
���4

� 

�6�7�=G:�%�(%8�>�(�=%�� �?>�7�5A�
G6@�IG%�=�&��?:?�����I=%6�6���%����?:?������

7�<�:��>���8�%�5�%� �@�%�5��6?�6=%��:�5�?��
�6���(����G5E��%9�5E>:7� ���G>�:$�

L%886�"��6�����6��M3���
��

LN��L+�������

� ,�I8%�  :�6�%6� %� ��>:� ����8�&%G>��� �65A� ? �G:(%G>�:� ?��?�  �>�6=G>:�� ���
%?��%�5A� ��9� ���6����8�&%G>��� >6?6":� =:56I�%65AG�� %G�� ? �G:(%7E$� ��� �65*
��%�5�"=%���67%��>6?6":���9�6��"�68�KF�=� �6G6G��+�:?����8�?6O$����������

������������������������
N��($� "�� �6;$� +�����,� -�.+
� P� �67@6"� 
%8�>�(%%� �6� L:">%68�� +"�%�%?��6G5%� %� �6�7� 4 �*

@�G>�:G��N�8%��G��%7%�L6�?>6=?7%�5Q�6"��?�"��7���? ��"��G5%��N8$�N�8%��G��%7%������*))��L6�?>6=6Q�
�*�6%8��6$;%86�R6�?$ =$�"�$ 8�

/�+��:7�@� ?�6��=%� ��>=%�%EG%�� �%�7�<�:G�� =A�7<=� ��(��6��� S��&%G>�6� ����%6� ;:��� %� G>6?�T��
=:&@�?>���&�� �"G>6?�7��(����G5%�Logika a modalno��. VIII Jesienna Konferencja Logiki�U	3���
���8%?�� 6"6����)��$V��6��679�� �=�:G��=A�7<=�6��:7�@<=�-�.+
����)�%����)6$�N��5�7��>�?�6@�?(%*
�6�?�=6�:�>��I��"7<=��6��"�=�&�����������6�7%� �>:>�6�:G���6� �"?�6=%��"�G:>5%�������*
����!�O!-!W4�!�XY�)$�

��+�24
�
���4��Met.�����Y6 U+�24
�
���4��''�G��))�V$��
��M3�����'�����Z�$��:�$�>6��4�3-	+��''Y���)$�
O��6%�����?�=6�%�� (%8�>�(%A� +�:?����8�?6� ?�� �%�=�� ��I�%�� =� �?�6��%G�� ">%�?%EG%�8�G%6G�� U>�;$�


�4��� ���OV$�1@<=�:� ����� �:G�� >6%�����?�=6[��%�IG%� ?%E�=� �;�E;%�� (%8�>�(%%� 6�68%�:G>��5� %� ;:=6�



+�����,� -�.+
��)

U�V� N�"?�6=�=��  :�6�%6� ����8�&%G>��� "��:G>A� 6��:;��<=� "�=�8��&�� ;:����
=��:��?�;?�6�G5%��6���68�:G��%�%��:G�� �>�"�%��<=�%?��%�5AG:G��=�G>6?%�X$��

U�V� 
�>:� ����8�&%G>��� � %?�5A� 6��:;��:� ;:��� >6�  ���GA� �7? 8%76�<=� �&<8�:G��
 �5EF��7�<���?A�78�G>�=��=�?���7���>��8�">7%�&���:I8��%6���I=%�G%��%���:I8�Y$�
��� ��&�� ��">65��  �5EF� �68�9A��%E">:� %��:�%�� ��\!	
�\�� L���\���,!N]^���,��
����+,!1+
3��	���6>���_\`!�+.�\`)$�

� �6?6"6� U�V�  �>: ��%�6� �I=%�G��%�=A� %"�E� ontologiae artificialis� ���%*
?�%6�6� L�8((6� U>�;$� ?�7G5E� �$�V�� 6� �679�� P� "=�">%�?��=%�G>�A� 7��G� G5E�
���6(%>:7%� � %?�=�5� N����6� 4��6=?��6$� 4�&���5�� ��6� �6?�E �5AG�� �;56I�%�*
�%���poj�cie ontologiczne�5�?�� �5EG%��� �>�"�%���=:��U�5$�>�6G>��%��� �=*
��&�� ����%��� 5E>:76�  �>�"�%���=�&�V� �9:=6�:��=�=%�8�� �;?>6�6G�� �6�7%�
567��78�G>�=:��8������?���7���:� �=�:G���%�>6=�"�:G��?G���6�<=���>���*
=6[$��;56I�%��%�����5�?����9� �>:5��=6���567��>6@�9��%��"68?>:G����>=696[$��
� ,�I8%�"�;�>���7��I8���� :�6�%6�%���>:�����8�&%G>����65A�?��?��6�7�=:�����
%G��(����@�=6�%���6�68%>6�%�?:?���6�:>6G56� �"8�&65A� �=�:���&<8�:��>6?6*
"�������"�8�&%%� �6�7$� �<=�%�9� %� ��&�� ��">65�� >6?6":� ��9�6� =: ��=6">%F�
>��6G5��68��5���7��?���7G5%��%�7�<�:G����7?�<=�4�6&%�:�:$�����"=%��>��%G����

UOV� ����8�&%6� 5�?���65�&<8�%�5?>A��6�7A���68�AQZ�=��:��?��?%�� 5�?����6� filozofi� 
pierwsz�$��

������������������������
�7��I86�:� �%6���� S���6(%>:7%� ���*+�:?����8�?�=?7%�5T� U����
�2� %� ���a	� ���X�� ZV$� ��� ��&��
��������9�6�>68%G>:F�=%�8��>�6�:G��6����<=��7�<�>:�=�?>���7%��>67��?%��?��?�5A�����":�(���68���
=� (%8�>�(%%� U=� �:�� 0$� -��&��� �%��� ��GG�%6��886�� 	$� 
%���� 3$� 0�%#����� N$� 4%���?�� -$� 4�%����
�$���?G���V$��

X�S��� B?�;?�6�G5%D� �>�6=6�:G��  �=?>�G��%�� �68�9A� ?�;?�6�G5�� �6���68���� �6�  �>:7@6"� �&%�[��
=�"6�� �=%���>����6>�%����G%6@6� ��?�����6?�E �%����I8%�:���6>�%G��G>EIG%��>=%��>E�6�%�G>EIG%�>=%��>A���
6�=�7�[G��I=%6��(%>:G>�:�%�5�&��G>EIG%$��6���%6?���%�7�<���?>7�@:�&@�?>A� �&8A"��9��?�;?�6�G56�%�?A�
%"��� %�  �>�"�%��:��6���6�:G>��T$�+�24
�
���4��Met.�� ��X�6� U+�24
�
���4� �''�G�� ZX)V$� S4�;*
?�6�G5�� �6���68��T� U�%�G�� "68�5�4�6&%�:�6� �7��I86� 5���%6����S?�;?�6�G5%� >�:?@�=:G�TV�  �>�G%=*
?�6=%6���  �>�"�%����� 6;?��67G:5�:�� U%"���� %�  �>�"�%������6���6�:G>�:�V� �68�9:� ;�>�=A�*
 %��%6�>68%G>:F�"��S�>�G>:�%?��%�5AG:G��=�G>6?%�T�U�����?�6��%�>=����>�7�8�%�"�IF�G>E?��� �56=%6�
?%E�=���>=696�%6G���6����6�� �5EG%6���+43� �>� ��=6">��:G��=�	?%E">�����FizykiV$�

Y��=����eksplikat poj�cia P��>�6G>6����?:�;�8�8�;�����%���7�<��&��>�6G>��%��5�?����>�8�6����
�7? 8%76G5%�  �5EG%6� PQ� � $� ?:�;�8� SW��T� 5�?�� �7? 8%76����  �5EG%6� L��+�� 6� ����%�� S;:�T� 5�?��
�7? 8%76���� �5EG%6���\�UG>:���9����	��L��	V$�

)�N��$� %��=?>A�G>EIF�����6$�N$�4��6=?���=?76>�5��+�:?����8�?6�567��5�"��&��>�"=<G�����;�7�
�$� 	6��6� ��  ��7��?��<=� metafizyki opisowej�� G>:8%� ���6(%>:7%� � %?�5AG�5� ���IF� %� ?%6�7E�  �5EF�
78�G>�=:G��=�?���7���>��8�">7%�&���:I8��%6���I=%�G%��U4
�+L4����'��!�'Y'!��Z��V$�

Z�N�>�>�nauki realne���>��%��:�����6�7%�"��:G>AG��>56=%?7�%� ��G�?<=�>6G��">AG:G��=� �>:*
��">%���? �@�G>�[?�=%��8�;���:I8�$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� Z

UXV� L>��G�=���?:?���6�:>�=6�6�=%�">6�����8�&%G>�6��6�?���7���E�67?5��6*

�:G>��*"�"�7G:5�A�$��

� �6?6"6� U�V� �6"65�� (%8�>�(%%� S %��=?>�5T� G�6�67���� ����8�&%G>�:�� U�V� P�
�7? 8%76G:5�:��UOV�P���68�:���6���%6?��>6?6"6�UXV�P�(���68�:$�N�5EG%����
�*
��1���5�?�������>��%6���>&�"�%��>��&<8�:�%�=:��&6�%�=? <@G>�?��5�����"�*
8�&%%��6�7�%�>�6�:?����8�?�=?7%�%�>6?6"6�%�U�V�UXV$�L��:��?��?%��� � � � 8 � & % 6 �
5 � ? � � � 6 5 � & < 8 � % � 5 ? > A � � 6 � 7 A � � � 6 8 � A � � � >= % 5 6 � A � > 6 �  ��� G A � � � *
� � " : � 6 7 ? 5 ��6 � : G > � � 5 � = � 5 E > : 7 � �  � 5 E F � � � � � 8 � & % G > � : G �$��
� +�:?����8�?�=?7%�� ����%�:� S;:�T� %� S;:�� 567�� �67%T� UG>:� ��9�P�=�68����6*
�:=�:�� �>�7@6">%��P�S;:��567��;:�TV��%��?A�"�IF�56?��$�N�>:5�%5�:��6?�E*
 �5AGA� ��7��?���7G5E� %G�� >�6G>��%6�� byt� 5�?�� ��� ;A"K� 5�"��� >� �8�����<=�
�67?:�68�%�� ?>���7%�5� ">%�">%�:�  �>�"�%���=�5�� ;A"K� 5�"�6� >� 786?� �67%G��
�8�����<=$� L �6=">%�� +�:?����8�?� �9:@;:� ���  �5EG%6� ����+,3� U>6�%6?��
 �5EG%6� 	�+42V�� 68�� 67��6�� �%�� �6�:�  �"� �E7A� ?>���7�� �>�6=6��5��  �>�"*
�%���=�5� U�%�?��6��:G>��5V� ����%%� ��">65<=� P� =�  �>�G%=%�[?�=%�� "�� ����%%�
786?$� L� 7����7IG%�� =? <@G>�?��5� (%8�>�(%%� ��67��=6��5� 567�� G>EIF� ?>���7��
 �5E��5� �6�7%�� �&<8�:� U8�&%G>�:V� ����%�� S786?6T� =:"65�� ?%E� "�IF� "�;�:��
�" �=%�"�%7%���+�:?����8�?�=?7%�&�� �5EG%6�����+,3.� 

� �&�"�%��>� �=:9?>:���;56I�%��%���%�>�"�G�������6(%8�>�(%%�+�:?����8�?6�
 �>:5��5�� ?%E�"68�5��6?�E �5AG��"�(%�%G5�$�N�� %��=?>���przedmiot� "�(%�%�5��:�
567�� �8������  �=��5� 786?:$� ��  �� "��&%�� >67@6"6�:�� 9�� teoria ontologiczna� 5�?��
67?5��6�:>�=68�:�� >;%����� >"6[� �&<8�:G�� �� �%��&�6�%G>��:�� >67��?%�� 7=6�*
�:(%76G5%� ?(����@�=6�:G�� >6�  ���GA� �7? 8%76�<=�  �5EF� � � � � 8 � & % G > � : G �$�
��8��� ����8�&%%� 5�?�� ��>=%A>:=6�%��  �=��5� 786?:�  ��;8��<=� (%8�>�(%G>�:G��
>6� ���GA��658� ?>:G��"�?�E �:G�� ����%%�����8�&%G>�:G�$�N�"?�6=�=:��=6*
���7%��� ;:G%6� "�;�A� ����%A� ����8�&%G>�A� 5�?�� 5�5� > & � " � � I F � > � = % � " > A �
" � ; � > � � � & � � � � � = 6 � A � = � ? > G > � & < @ � = : G � � � 6 � 7 6 G � � � � 6 8 � : G �$��
� �?�6��%��">%�?%EG%�8�G%6�? �>:565A� ��>=�5�=%� �67� �5E��5�����8�&%%%$�L��:��
G>6?%�� �6?�A %@�� �&������ �9:=%��%��  �6G� >� >67��?�� 6�68%�:G>��5����6(%>:7%�
U=� �:�� ���6(%>:7%� G>6?�V�� (%8�>�(%%� (%>:7%� ��6>� metaontologii� P� ��=�5�
?�;":?G: 8%�:� (%8�>�(%G>��5�� �65AG�5� �6� G�8�� =:56I�%��%�� �6���:� %� ����"�
6�68%�:G>��5�����8�&%%'$��
������������������������

��SL?>:?�7%���6�7%��65A�=? <8�A� �"?�6=E�">%E7%�=? <8�:��67?5��6����U=? <8�:�%�67?5�*
�6�6�%��6>:=6������7�<�:G��?%E��9:=6� 567�� �>�?@6��7�"�=�"���6��%�� �>�"�%��:�6�%�6��:;��:�
"�=�">���VT$�+�24
�
���4��An. wtóre� ZZ6�U+�24
�
���4��''�6���Z�V$�

'�
���%�� S���6����8�&%6T� 5�?�� ��� ��>��%6�:� >&�"�%�� >� �6?�E �5AG:�� �;56I�%��%���� S�(� ����
7�:�b��?�%���(�������8�&:��6?�M�%�����8"��?��%?�HL�6��%?������cJ�����������U�=�(�8"V�7�:�b��?�%���



+�����,� -�.+
���

� N��%����=�&���9:=%��%6�=G%A9�;�67�5��"�;�>���?6">���5�=���6":G5%�(%8�*
>�(%G>��5� 7��G� G5%� "�?�6�G>65AG�5� �" �=%�">%� �6� pytanie o struktur� onto-
logii��,67%��?A�&@<=����: :�����%%�����8�&%G>�:G��%� 567%�� �"?�6=�=����86G5��
�%E">:��%�%�>6G��">Ac���8�����&��6��:7�@��5�?��=?76>6�%���67%�5�7��G� G5%�
��6>� 5�5� >6?��?�=6�%��=�7��?���7G5%�  �"?�6=�=:G�� �>:7@6"<=� ����%%� ����*
8�&%G>�:G�Q� 5�"�:�� >� �%G�� 5�?��  �=�6� ��=6� =��?56� ����%%� G>6?�� =: �@*
�%���&���$�
� 
���%��S(���68�6�����8�&%6T�P��9:�:�=��:��8��6��:7�@��P��>�6G>6�����*
8�&%E� ��>=%56�A� >6�  ���GA� =? <@G>�?�:G�� ����"� (���68�:G�� U8�&%G>�:G��
8�;��65�&<8�%�5?>:G������"��6���6�:G>�:G�V$�3=>&8E"�%65AG�>6?6"E� UXV��"�*
?:&�6�� ��&�� ����%��� 5�?�� %"���:G>�:� >� 5�"�A� >��=? <@G>�?�:G��=��?5%� ����*
8�&%%�=�?��?%��=:=�">AG:��?%E��"�+�:?����8�?6��$�

�$�

�$�$�
��2�	����N�,����
���1���
��0+���,�

� �6�<=���=� ��6":G:5��5�� 567� %�=��=? <@G>�?��5� (%8�>�(%%� ;:�����9�6�=:*
�<9�%F�� � > : � 7 � � G �  G 5 � � ( � �� 6 8 � � 5 � � � � � 8 � & % % � � 8 � & % G > � � 5�� � 7 ?  8 % *
7 6 G : 5 � � 5 � % � � �  % � : G > � � 5 $�	��G� G5�� ���=:?�E �5A�=� >68A97�=:G�� �*
?�6G%6G�� 5�9�=�">%�@6G��+�:?����8�?6$��"&�:=65A� ��9� %?����A� ��8E�=��=? <@*
G>�?��5�(%8�>�(%%$�
� Ontologia logiczna� U>=6�6� ��� >6� ,$� N��>6��=?7%�� S����8�&%7ATV��� 5�?��
����8�&%A��7�<��5���>�8�6�:�?A�=:�6968���=�5E>:7��czystych formu� logicznych�
������������������������
(������6����8�&:�%?�HL�6��"��=����6��=����=��6?7�LW+
��4�
W���?J��6�"�HL�6��%?�����G����G��
�����"�8�&:� �(� ����8�&:cJT$� -��
�� %� N��-+��� ���Y�� �$� 
���%�� ���� � �=?>�G��%@� ?%E� &@<=�%��
">%E7%� �;8%76G5%��+����L+1����''�$�

��� �=%��=��?5�� �=�5� ����%%� >�?�6@:�  �>�"?�6=%����=�  �6G6G�� -�.+
� ���)� %� ���)6$� �<9�%G6�
�%E">:��%�%�6�����%A� �>�"?�6=%��A�=��:��6��:7�8��5�?���;56I�%��6�=� �>: %?%��X)$�

���N��$� � $� "�IF� G>E?��� G:��=6��� �;56I�%��%��� S
���68� ����8�&:� BCD� %?� 6� "%?G% 8%��� %��
=�%G������(���68������"?��(��6����6�%G68�8�&%G�6���G��;%��"�=%�������%���%�%d��� �%8�?� �%G68�
6�68:?�?� 6�"�  �%�G% 8�?� �(� ����8�&:�� =����� ;:� ����8�&:� =�� ��6�� ���� ?��":� 6�"� 6�68:?%?� �(�
;�%�&� qua ;�%�&�� %�G8�"%�&� %��  6��%G�86�� ���� "%((������ G6��&��%�?� �(� ;�%�&� 6�"� ��=� ���?��
G6��&��%�?�6���G����G��"�=%���������#�?��(� ��"%G6�%���%��86�&�6&�������&���6�"���68%�:T$����*
�W�+����+����Z��#%%%$�46������%��S����8�&%6T�>�?�6@�= ��=6">��:�"������ �5?7%G��?@�=�%7<=�
"�IF� <K����;����?G�:@7����=65AG�5� ��6"�"=6��:?%AG��86��� �7%��=�7�<��5��%��68�G6@6�(%8�>�(%6�
;:@6� ��>=%56�6� 567�� �6�76� �� ;:G%�� U%�5�&�� =@6?��IG%6G�V$� ,67� =%��:�� ����%�� <=� ?�6@� ?%E�
 � �86��:�=�������=%�7��&@<=�%��">%E7%� �6G�����$�L�8((6$��

����6� ���6�� >�6G>��%6� ����%��� S����8�&%6� 8�&%G>�6T� %� ����%�<=�;8%?7�>�6G>�:G��=��=? <@*
G>�?��5�(%8�>�(%%�(���68��5�>�;$�-�.+
����X��'��X$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� '

U�5$� (����@� 8�&%G>�:G���=� 7�<�:G�� �%��=:?�E �5A� 96"��� ?�6@��  �>68�&%G>��V$�
N�>:7@6"6�%� ��6":G:5�:G�� ��>� >� >67��?�� ����8�&%%� 8�&%G>��5� ?A� +�:?����8�*
?�=?7%��  �6=6� �%�? �>�G>��IG%� %� =:@AG>���&�� I��"76� G>:� ��9� ��%;�%>56[?76�
>6?6"6� %"���:G>��IG%� �%��"�<9�%68��&�$� �65 ��?�?>�� � % � � 6 � � � 8 � & % G > � � �
�=%��">��%�� ����8�&%7%�=:�696� (����@6� SU∃xyVx≠yT�� &@�?>AG6�� 9�� %?��%�5A� G��
�65��%�5� "=6�  �>�"�%��:$�-6�">%�5� >@�9��:G��  �>:7@6"<=� �67%G�� �=%��">�[�
P�>6�<=��� �6���8�&%G>�:G��� 567� %��%��6����8�&%G>�:G��P�"�?�6�G>65A� 5E>:7%�
=? <@G>�?�:G��?:?���<=�8�&%G>�:G��=:9?>:G���>E"<=$�
� Eksplikacyjna� ontologia formalna 5�?�� ����8�&%A� ��>=%56�A� >6�  ���GA�
67?5��6�:G>��5� �7? 8%76G5%�  �5EF� ����8�&%G>�:G�$� �&<8�6� %"�6� �7? 8%76*
G:5��5� ����8�&%%� (���68��5� >�?�6@6� 5�9� "�IF� =:�6K�%�� �7��I8��6� =� �?%��*
�6?�:��=%�7�� �>�>�L�8((6�=� �?�6G%�5�&��7��G� G5%�ontologiae artificialis$�
L�"@�&�L�8((6� �5EG%6�����8�&%G>���U>=6��� �>�>�[�notiones generalesV�?A�
 �=?>�G��%�� ?��?�=6���=� ��>���=6�%6G�� "��:G>AG:G��  �>:��":� %� ��:?@�Q�
����8�&%6��7? 8%76G:5�6�Uontologiae artificialisV��6�;:F��6�7A��=�7�<��5�>;%<��
�=:G��P��%��"�IF� 56?�:G��P� �5EF� 5�?��  �>�7?>�6@G6�:�=�"�"�7G:5�:� ?:?*
����56?�:G��%�=:�6K�:G��%"�%���6>�>6?6"�>��%�%�>=%A>6�:G��O$��
� Empiryczna�ontologia formalna 5�?������8�&%A�;:�<=�%?��%�5AG:G��=�U��68*
�:�V�G>6?%��P�6�=%EG� �>�"�%��<=���68��&��I=%6�6�P���>=%56�A�>6� ���GA�
����":� 67?5��6�:G>��5� >&�"�%�� >� �6?>A� �658� ?>A� =%�">A� �&�����=6�A�
=��6�76G�� ?>G>�&<@�=:G�$� 
6� 7��G� G56� 5�?�� 7��?�7=��G5A� >6?6"� UOV� %� UXV�
U>�;$�L ��=6">��%�V$� �;%�� >6?6":� ;:@:� ?��?�=6��� >6�<=���  �>�>� +�:?��*
��8�?6��567�%� �>�>�L�8((6$�N�>:7@6"���"=�">%�?��=%�G>��5�=��?5%��� %�:G>*
��5�����8�&%%� (���68��5� 5�?������8�&%6�06�%��-��&�&�$� ,�5��&<8���>6?6":� ?A�
�6?�E �5AG���+V�	8�G>�=:���8��������=?>�87%G��;6"6[� ������:G>�:G���>6*
�<=��� =� �6�76G�� ?>G>�&<@�=:G��� �6���6�:G��� 567� %� =� (%8�>�(%%�� 5�?�� 7��*
?���7G56� ����%%Q� 96"�6� %"�6� ����8�&%G>�6��%�� 5�?��=� �@�%� 56?�6�  �>6�7����7*
?��������%%$�-V�
���%��?A�>��?�;A�=�?:?���6�:G>�:�? �?<;� �=%A>6��Q�����*
8�&%6� 5�?�� ?:?������ ����%%$� �V� ����8�&%6� 5�?�� >6?6"�%G>�� wiedz�� �cis��� U�5$�
=:�6968�A� =� 5E>:7�� ?(���68%>�=6�:�V� %� naukow�� U>&�"�A� >�� =? <@G>�?*

������������������������
�O�L�8((�  �"6=6@� �6?�E �5AG��  �>:7@6":�  �=?>�G��%�� ?��?�=6�:G��  �5EF� ����8�&%G>�:G���

�4
�
+� UessentiaV�� �4
������� UexistentiaV�� +
�2-3
� UattributioV�� 4N�4]-� UmodusV�� 	��������\`�
UnecessitasV�� N��21����\`� UcontingentiaV��0��,4��� UlocusV�� ��+4� UtempusV�� ��4	��+.�\`� Uper-
fectioV�� N���e��	� UordoV�� N��4
�
+� UsimplexV�� �.�f����� UcompositusV� UL��

� �')O!�Z���� XY�
X)V$�L��=? <@G>�?��5�U?>���7�� �5E��5V� 8%���6���>�����6(%8�>�(%G>��5� %?��%�5A�5�":�%�� �5�":�G>��
=>�%6�7%��6����6��L�8((%6[?7%�5�%"�%�ontologiae artificialisQ�>�;$�� $�1��4������)!��'X�����X�
��YQ� N+^� ������ ��O���XQ� -3�	W+��
� %� 40�
W� B�''�D�� 'XZQ�1+�-+��� %� 
�2N3�� ������ �����Q�
-�.+
� ���O�� X��XX�� )X�)Y$� N�=�6� =��?56� �7? 8%76G:5��5� ����8�&%%� (���68��5� 5�?�� ��>=%56�6�
=�����&�6(%%��-�.+
����O�U�&<8����;56I�%��%6��=�5�=��?5%�>�65"�5A�?%E�=��-�.+
����O��Z���V$�



+�����,� -�.+
����

�:�%� �6�76�%� ��68�:�%V�X$� �6?6":� -��&�&�� +V*�V� ?A� ��9� 67G� ��=6��� =�
�:���%�5?G�$�
� L?76>6��� 7��G� G5�� ��9�6� >�� ?�;A� =� �6���68�:� ? �?<;�  �@AG>:F�� �7?*
 8%76G:5�6� ����8�&%6� (���68�6� U�
�V� ��9�� ;:F� �5E�6� 567�� ��>�8�6�� 5E>:*
7�=�&�� =>;�&6G��%6� %� 67?5��6�:G>��&�� ��>?>��>��%6� ����8�&%%� 8�&%G>��5�
U��V�� 6� �� %�:G>�6� ����8�&%6� (���68�6� U�0
�V�P� 567�� ��>�8�6�� 67?5��6*
�:G>��&�� ��>?>��>��%6��
��U�=>&8E"�%65AG�&����>�8�6�:�?>G>�&<@�=:G���6�7�
�� %�:G>�:G�V$� N���67��5�:� = ��=6">���� ?7�<�:� 567�� ?:�;�8�� �" �=%�"*
�%G��>;%��<=� �=%��">�[�����8�&%G>�:G�� %��>�6G>�:� 8%���A�S4T�>;%<��=?>:?�*
7%G�� �=%��">�[� �6�7�=:G�$� N�?��8�=6��� >=%A>7%� ��9�6� � %?6F� >6�  ���GA�
%�78�>5%���

�� �
� �0
� 4$∅ ≠ � � � �

� ����8�&%G>�%�� >%���� ����=6��� ?:�;�8��7=6��:(%76���6� �&>:?���G568��&��
U∃V�%�>�67��%"���:G>��IG%�UgV�?A� �>:7@6"6�%��7? 8%76�<=��65;6�">%�5� �"?�6*
=�=:G�� �5EF� 8�&%G>��*����8�&%G>�:G���?:�;�8�S∃T� 5�?���7? 8%76���� �5EG%6�
�4
�����+��6�?:�;�8�SgT�P� �5EG%6�
�f4+0�\���Y$�L�7��?�7=��G5%��"�=�8*
���  �>�"�%���=�� >%���� ����=6��� �=%��">��%�� ����%%� %"���:G>��IG%�  %��=*
?>�&�� 8�;� =:9?>:G�� �>E"<=� ?�65�� ?%E�  �>:7@6"��� >"6�%6� �68�9AG�&�� "��
>;%�������U?�A"�=�%�?�7���5�&���%� �?��IG%V$�
� N�=:9?>���;56I�%��%6��=��>A��&<8����6�:�"86�5�"��8%��5�7��G� G5%�����8�*
&%%�(���68��5�>6=%��65AG�5������
��%��0
�$�1@<=�:��>6"6�%��� �>�?�6@:G��
(�6&����<=� 6��:7�@�� 5�?�� ��>=%�%EG%�� %� �;56I�%��%�� �%�7�<�:G�� 78�G>�=:G��
?>G>�&<@<=���6=%6��5�7��G� G5%�=�>67��?%��"��:G>AG:�����%��
��U=�"=<G��
 �>�?�6@:G��?�7G56G��G>EIG%��V�)��6��6?�E �%��=?76>6�%�� �"?�6=�=:G�� �>:*
7@6"<=�����%%�����8�&%G>�:G��>�>67��?�������
��%��0
��U=�G>EIG%���V$��=��
 �>:7@6":�"��:G>A�?:?��������6":G>��5�����%%�%"���:G>��IG%�"��&%�&���>E"��
��6>�5�5�"=<G��67?5��6�:G>�:G����>?>��>�[��?@6;�5�U�7? 8%76G:5��5V�%���G��5�
U�� %�:G>��5V�=��?5%�����%%�G>6?��=: �@�%���&�$�

������������������������
�X�-3�1���'ZZ��d�d%$�
�Y��� �6���68��IG%�  �5EF� 
W���� �4� %� 
W�� 4+0�� I=%6"G>:� �%�� �:87��  �=?>�G���IG%� %G�� �9:G%6�

=�5E>:7�� �6�7%�� 68�� ��9� (67��� 9�� >�686>@:� ?%E� ���� �6� 8%IG%��+$�L%��>;%G7%�5� %���%G:5�%��  ��?�:G��
5�"��?��7�?��6��:G>�:G����65AG:G��8�7?:768����� ��>���6G5��=��� ��>���6�:=�:��>;%��>��5E>:*
7<=�I=%6�6�UL����-��	+����)!�'')V$�

�)����=>&8E"���6��&�6�%G>��%6�"��:G>AG���;5E��IG%� �;8%76G5%� ��%56���?A����?>G>�&<@:�"��:*
G>AG���0
�$��&�6�%G>6�:� ?%E� ��� 5�":�%��"��=?76>6�%6� U=� ?�7G5%� �$OV� �: �=�&�� �>:7@6"�� 5�5�
>6?��?�=6[$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� ���

�$�$�����
���1�����1�����,�

� �6���68�:���" �=%�"�%7%��� (%8�>�(%G>��&�� �5EG%6�-2
3� 5�?�� �5EG%�����*
1�\�UG>:���9�����1�	��L��	V$�N��?�:��6�:?@��6"�7=�?�%A�S,67%�� �=%��">��%6��
"�;�>�� �&�����=6��� =�� =? <@G>�?��5� �6�G��� "��:G>A� G > � & �7� 8= % � 7cT�
 ��=6">%� "�� =�%�?7��� 9�� �65�&<8�%�5?>:�%� �=%��">��%6�%� ����8�&%G>�:�%�
8�9AG:�%��� �"?�6=�=%�">:��6�7�=�5�?A� �>�"�%���=��>%���� ����=6��� �6*
=6� 786?:G>��5� 8�&%7%� 7=6��:(%76���<=� >� %"���:G>��IG%A� U�%�7��%�G>�%��
 %��=?>�&�� �>E"�V$� �68�9A� "�� �%G��  �6=6� �" �=%6"65AG�� ��6":G:5�:��
>6?6"���S;:��� %��:I8%T�P��%�? �>�G>��IG%��=:@AG>���&��I��"76� %� ��9?6��*
IG%�P�6� �679��>6?6":�G�6�67���:?�:G>���"86� 8�&%7%�786?:G>��5�� 567� �6=���%�*
�"�<9�%68��IG%�%"���:G>��&��%� �6=���&>:?���G568��5�&����68%>6G5%$�
� �<=�%�9�6�68%>6��&<8��5����IG%� �"?�6=�=:G�� �5EF�8�&%G>��*����8�&%G>*
�:G��P��67%G��567��4
������������
2����\`���+��f������N����0��
�%�	�+4+�
P�  ��=6">%� "�� =�%�?7��� 9��  �"?�6=�=�� >6?6":� >� �%�%� >=%A>6��� ?A� =:*
�6968���=� �?�6G%�G>:?�:G��(����@�786?:G>��5�8�&%7%$�
� 35EG%6� "=�*� 8�;� =%�8��: %768��� ��5� 8�&%7%� ��&A� �76>6F� ?%E� ?>G>�&<8�%��
�9:��G>�:���6�>E">%���6�68%>:� ��&�� ��">65�� �=%��">�[$��6@<9�:��6��9:��7�
��>���=6�%6��9��L 5�?����<5�: %768�:��?:?�������=�7�<�:��>�%����� %��=*
?>�&�� �: �� 8�&%G>��&�� x�� y� C�  �>�;%�&65A�  �>�"�%��:�� >�%����� "��&%�&��
�: ��X��Y�C�P�786?:��6�>�%����� ��>�G%�&�� �: ��p��q�C�P�>"6�>�[$� ,�I8%�L 
5�?�� "�;�>�� �7��I8��:�  �"� =>&8E"��� (���68�:�� %� �7? 8%76G:5�:�� U6� =%EG�
5�&�� ��>:� ��6(�%�� %� =�  �@�%� �7? 8%7�5A� �&<8���  �5EG%6� N����0��
3�� 	�+42�

����+���hV� %� 5�I8%�  �>:5��5��:� ?�6��=%?7��� 9�� 769":� ;:�� 5�?��  �>�"�%�*
�����786?A� 8�;�>"6�>��%���� ��� � � < 5 � :  % 7 6 8 � 6 � � � � � % 6 � % " � � � : G > � � I G % �
L I � 5 � ? � � = ? > : ? � 7 %� � � G > � & � �  � � � > � ; � 5 �� : � " � � = : � 6 9 � � % 6 � �= � *
& � � ? � 6 � � = % ? 7 6�Z$ � �&�"�%�� >�� >�6�A� ���6>6?6"A� 786?:G>��5� ���6(%>:7%��
 �5EG%�� -2
3� ��9�� ;:F� �;56I�%���� =� 5E>:7�� ��5� ����%%� 567��  �5EG%�� ?:?��*
�6�:G>�%��=%�8�>�6G>���US6�68�&%G>��TV�=��6?�E �5AG:�? �?<;��

x�5�?��;:�����⇔�U∃yVy g�x��
X�5�?��;:�����⇔�U∃YVY g�X��
p�5�?��;:���O�⇔�U∃qVq g�p$�

� 
����@6� SU∃yVy g� xT� >�6G>:� ;�=%���� 9�� %?��%�5��  �>�"�%��� U��9?6�:�
>� �>�"�%����V�x$�47����S;:�T�>�6G>:��:8���G��SG�I��G��%?��%�5�T�� ���(����@6�
������������������������

�Z�,�I8%�L� 5�?��?:?������8�&%7%�7=6��:(%76���<=�>�%"���:G>��IG%A�� ���?:�;�8�SLIT��>�6G>6����
����%E� %"���:G>��IG%�  �=?�6@A� =� =:�%7�� ��"�7G5%� 5E>:76� L� "�� >;%���� (����@� �%�>6=%��65AG:G��
?�6@:G�� �>68�&%G>�:G�$��6G��">%��G>:=%IG%��>=%A>�7��L����L����L�

I���L�
I$�



+�����,� -�.+
����

�6���9��;:F��"G>:�:=6�6�� �>�"�%���x�5�?��;:���$�L�7��?�7=��G5%�� � �>�>�
��%=��?68��� "��7�%EG%��=?76>6��5� (����@:�� �>:?7�5��:�����8�&%G>�%�� >%�*
��� ����=6�A���>E�8�&%7%��&@�?>AGA�� %9�769":� �>�"�%��� 5�?��;:����U=� %��=*
?>:��>�6G>��%�V��

U∀x∃yVy g�x$�

� N�"�;�6�6�68%>6�"=<G�� �>�?�6@:G�� �>: 6"7<=� ��=6">%�"��6�68�&%G>*
�:G��=�%�?7<=�� 769"6�786?6� 5�?�� ;:���� U=�"��&%�� >�6G>��%�V� %� 769"�� >"6*
�>��%��5�?��;:����U=���>�G%��>�6G>��%�V$��
� Silna ontologiczna interpretacja ?:?���� 8�&%G>��&��L  �8�&6��6��>�6�%��
LI 567�� S76���%G>��5T� ����%%� ;:��� �7��I865AG�5� =@6IG%=A� %� �%���"�7�=68�A�
?���7���E� �>�G>:=%?��IG%$� ,�I8%�=� 5E>:7��L �%���6� %��:G�� �: <=� >�%���:G��
 �>6�>�%���:�%��� ��>����5AG:�%� �>�"�%��:��786?:� %�>"6�>��%6��� > : ? 7 � *
5 � � : � = � � ; � E ; % � � � 6 7 % � 5 � % � � � �  � � � 6 G 5 % � � & < 8 � A � % � I G % ? @ A � UG��F�
�:87�� S6�68�&%G>�ATV� � � > E � & @ � ? > A G A � � % 9 � 7 6 9 " : � ; : � � 5 � ? � �  � > � " *
� % � � � � � � 7 8 6 ? A � 8 � ; � > " 6 � > � � % � �$��6�&���G%��?%8��5�%���� ���6G5%�����*
8�&%G>��5�L �=A���>E� �I��"�%��=:�696�(����@6��

U∀x∃yVy g�x�∧�U∀X∃YVY g�X�∧�U∀p∃qVp g�q$�

� �� �%�G�� �"�%���A� ?:��6G5A� �6�:� "�� G>:�%��%6� =<=G>6?�� &":� "� �*
?>G>6�:� ��98%=�IF� =>;�&6G��%6� L� U%� �:�� ?6�:�� LIV� �� %���� �: :� ;:�<=$�

676� s�aba� interpretacja ontologiczna� 8�&%7%� �%�� "�?�6�G>6� �" �=%�">%� �6�
 :�6�%�� S�� �6���E� ;:��T�� G��F� ��9�� ?�6��=%F� =69�:� =7@6"� "�� 7��?���7G5%�
?:?�����"�?�6�G>65AG�&�� �67%�5��" �=%�">%$�4 ��=6">6�?%E���6�"���?�68��%6�
�67?:�68�%�� ?>���7%�5�">%�">%�:� �>�"�%���=�5�"86�LI�� �>�"�%���=�5� %����*
 ���6G5%�7=6��:(%76���<=� %��=?>�&���>E"����&>:?���G568��5�%���� ���6G5%�7=6�*
�:(%76���6� ?>G>�&<@�=�&�� U"�=�8��&�� �>E"�V� ��6>� �7��I8��%6� %���%G:5��&���
����8�&%G>��&��? �?�;��G>:�6�%6�(����@$�
� �76>�5�� ?%E�� 9�� =6���7%��� �>:?76�%6� "�;�:G�� �" �=%�">%� �6�  �"?�6*
=�=��  :�6�%6� ����8�&%G>��� ?A�=G>�I�%�5?>�� ��>=%A>6�%6� 7=�?�%%� >�  �&�6�%*
G>6����6����8�&%%� %� (%8�>�(%%� 8�&%7%�� U�V� ,67%� ?:?���� 8�&%7%� 7=6��:(%76���<=�
>�%"���:G>��IG%A�5�?��=@6IG%=A�U76���%G>�AV� �"?�6=A�����8�&%%c�U�V�,67%��?A�
 %��=������ 8�&%G>��� �: :� ;:�<=� &�����=6���  �>�>� <=� ?:?���� UG>:� ?A� �%�%�
� $� �: :�  �>�"�%��<=�� 786?�� >"6�>�[� %�"$Vc� UOV� ,67%�� �7��I86� ��� ��86G5��
8�&%G>��� �%E">:� ;:�6�%� UG>:� ?A� �%�%� � $� ��86G5�� %"���:G>��IG%�� �68�9��%6��
;:G%6�S�G>�?��%7%��T�>"6�>��%6�%�"$Vc�UXV�,67%��?A�(���68���=@6?��IG%��=:G��



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� �O�

��86G5%c� �65�&<8�%�5?>6� G>EIF� ����8�&%%�� �;�5��5AG6� 6�68%>E�  :�6[� U�V�UXV��
>�?�65��=�����? �?<;����9?6�%��6�>���$�
� L��%�%�5?>:��6��:7�8���%����>=696�?%E�7=�?�%%�U�V�UXV��$�L�5�&��"68?>:G��
G>EIG%6G�� ?��?�=6��� 5�?�� �%�%�68��� U>6G��=�5AG�� ?�6�"6�"�=��  �5EG%��
��
��N��
+�,��L 0����3V� ��>?>��>��%�� ?�6�"6�"�=�5� 8�&%7%� >� %"���:G>��*
IG%A� �� 7=6��:(%76G5E� =:9?>�&�� �>E"��� G>:8%� ���6":G>�6� 8�&%76� "��&%�&��
�>E"�� U
���� Monadic Second Order LogicV$� �67@6"6� ?%E� ��9� ?@6;A� %����*
 ���6G5E�����8�&%G>�A���&��?:?����Q��%��=:78�G>6�?%E�=%EG���98%=�IG%�=>;�*
&6G��%6� 
��
� U�5$� ���6":G>��5� ����%%� %"���:G>��IG%V� �� "�"6�7�=�� �: :�
>�%���:G��U� $���>�%�����(��7G:5���"��&%�&���>E"���>�%�����=:9?>�&���>E*
"���G>:���9�? �G:(%G>���>�%������� ��>����5AG��>"6�>��%6V�'$�
	 3=>&8E"�%65AG� (67��� 9�� 
��� 5�?�� ?:?������ �7?���?5��68�:��� G6@7�=%G%��
�6���68�6� 5�?�� 5�&�� %���� ���6G56� 567�� ?:?����� >�  �"=<5�A� 7=6��:(%76G5A�� S ��
 �>�"�%��6G�T� U∃xUCx$$$VV� %� S �� 786?6G�T� U∃XUCX$$$VV$� 
���%6� %"���:G>��IG%�

��
� ?�65�� ?%E� =� �;�E;%�� ��5� %���� ���6G5%� 8�&%G>�A� ����%A�  �>�"�%��<=�� 786?�
��6>�"=<G����86G5%��%"���:G>��IG%�%��68�9��%6$�,67�=%��:��5�?���������%6�>�6G>�%��
?@6;?>6��"�?�6�"6�"�=�5� ����%%����&�IG%$�
6��?�6��%6� U%� �"�;�%�� ?:?���:��%�*
?�6�"6�"�=�� �� >;8%9���5� ?%8�� �7? ��?5%V� 5�?�� ;6�">�� ?%8�:�� �6�>E">%��� 6�68%>:�
 �"?�6=��6���6�:7%$��7�8%G>��IF��6���9��;:F� �>:�:=�%���G��%6�6�>� ��? �7*
�:=:� (%8�>�(%%� �6���6�:7%� %� ?��6��:7%� (%8�>�(%G>��5�� ;�">%� �6���%6?�� %?������
=A� 8%=�IG%����6����8�&%G>��$�4��?�=6�%��=��&<8��5�����8�&%%��67�?%8�:G�����*
�%%� 5�?���6�69���� >� 5�"��5� ?����:��6� >6�>����%���>?��>:&68��IG%� �%�7�<�:G��=69*
�:G�� :�6[�=:�6968�:G��=� %G�� 5E>:76G�� U� $� :�6�%6��� 8�&%G>�A�=6���IF��% �*
��>:� G���%����V�� 6� >� "��&%�5� ?����:�P� �6� >6�>���= ��=6">6�%6� ����8�&%G>�%��
=A� 8%=:G��;:�<=���>�6�%��6G���6���6�:G>�:G��6���(67�<=��>;%��<=�����G:�
=:9?>�5��%9�G���%������>;%��<=��7�<�:G���%�� ���6(%�:�?7��?����=6F�%�"$�

��&%76� ���6":G>�6� U"��&%�&�� �>E"�V� &�����5�� S�&>:?���G568�%�� 8�77AT�
����%E� 786?� U=�  �?�6G%�
��
VQ� >;%<�� 5�5� ? �G:(%G>�:G�� �=%��">�[� �&>:?���*
G568�:G�� ? ��=6">6� ?%E� "�� ��>:�� 9�� %?��%�5A� G�� �65��%�5� "=%�� 786?:� U �?�6�
%���%=��?68�6V$�L�?>G>�&<8��IG%�=�
��
	�%��>67@6"6�?%E�%?��%��%6�786?�=%�8�*
�8������=:G���786?� ��E&�=:G��6�%� 6��� ��>A"7�=6�:G���$�

������������������������
���L ��=6">��%��"����5� ��;8��6�:7%�>6=%��6�����&�6(%6�-�.+
����X$�
�'��65=69�%�5?>��6? �7�:�(%8�>�(%G>���>=%A>6���>��:��?:?������>�?�6@:�=?76>6���=��6?�E *

��5�?�7G5%$�N�=�A�=��?5E�67?5��6�:7%�"86�SG>:?��5T�
���(����@�5��?%E�=�?�7G5%��$�$�N�"?�6=�=��
=%6"���IG%�"��:G>AG�����68�&%G>�:G��=@6?��IG%�?:?�����
��� �"65��4W+N�����''���������)$�
�:?7�?56�(%8�>�(%G>�:G��6? �7�<=�8�&%7%�"��&%�&���>E"��>6=%��6�=? ���%6�6� �6G6�-�.+
����X$�

���1$�-��8�?�?@�?>�%��=�>=%A>7��>��:��>=�6G6@��=6&E�U-����4��''�!�'ZYV��9��5�?���������%6�
>;:��?@6;6��6;:���9�6�5A�;:@����67��=6F���567�����G>:�%@�M�%���=�?=�5�5�>�6��5�7�:�:G��U=� �6G:��
M�%����'ZZ!�'ZOV���567��S����%E����&�IG%�=��=G>�5�?7<�>�T$��



+�����,� -�.+
���X

�65G>EIG%�5� =:?�=6�:� 6�&������  �>�G%=7�� ��67��=6�%�� 8�&%7%� ���6*
":G>��5� 567�� =@6IG%=�&�� �6�>E">%6� 6�68%>:� "��:G>:� 5�5� semantycznej nie-
pe�no�ciQ��>�6G>6� ����9���%��=?>:?�7%�� 5�5� �6���8�&%����9�6�=��%�5��"�=�"*
�%F$�L� %?��G%�� 5�?�� ��� ?@6;�IF�� �"�7�<��5�=�8�6� 5�?�� 8�&%76� ?�6�"6�"�=6$��%��
5�?�����5�"�67�(��"6����68�6�?@6;�IF�
����?7�����6��?�6��%6�5�?��5�5�G>EIG%A$�

���=%EG�5��6�68�&%G>�:�>6�>�����9�6�?(����@�=6F� �>�G%=7�� 8�&%G��?�6�*
"6�"�=�5�� 5�?����6��=� �>�G%=%�[?�=%��"��
���� ?:?������niekategorycznym�
U�>�$� �%�� %?��%�5�� ����%6�  %��=?>�&�� �>E"��  �?%6"65AG6� ��"�8� �%�?7�[G>��:��
7�<��5�=?>:?�7%����"�8�� ?A� %>����(%G>��V��$� ,�"��G>�I�%�� �%��=%"6F� 96"��&��
����"�8�&%G>��&�� 7�:���%��� �?�686�%6� �%��6�G�%%� =@6?��IG%� ?:?���<=�
"�"�7G:5�:G���7�<����>6?6"�%6@�;:� �>�7��6�%��� %9� �@��IF�5�?��=@6?��IG%A�=�
567%�I�?��?%��S=69�%�5?>AT��"�76��&��:G>��IG%�U6��679��P��6��"=�<�V��$�

�%��=%"6F�=%EG�>6?6"�%G>:G���� � � � " � 8 � & % G > � : G � � ���"��IG%�>=%A>6*
�:G�� >� 67G� �6G5A� 8�&%7%� ���6":G>��5� 567�� �6�>E">%6� 6�68%>:� (%8�>�(%G>��5�
%�(���68%>6G5%� ����%%�� 7�<��� P� =� ���� G>:� %��:� ? �?<;� P� %� �67� ?A� 5�9� >6*
6�&69�=6���=� ����8�&%E� 786?$� �?��%�5�� �6���%6?�� ?>���&� 6�&�����<=� ( % 8 � *
> � ( % G > � : G � � >6� 5�5� �>�6�%��� 567�� �9:��G>��&�� �6�>E">%6� (���68��5� (%8�*
>�(%%�;:��$�0�9�6�=?76>6F�G���65��%�5���>:��67%��6�&�����:$��

N��  %��=?>��� 
��� "�;�>�� 7 � � � ?  � � " � 5 � � > � + � : ? � � � � 8 � ? � = ? 7 A �
% " � A � t y p i k a l n e g o  d u a l i z m u�� >&�"�%�� >� 7�<�A� %?��%�5A� "=6� �: :� 76��*
&����6�<=� U=� �:�� 5�"���  �"?�6=�=:VQ� >� 769":�� >� �%G�� >=%A>6��� ?A�  �*
"�;��� "�� ?%�;%�� US6�68�&%G>��TV�  �5EG%6� �4
�����+�O$��" �=%�"�%7%��� �:G��
 �5EF�?A�>�6G>��%6�"=<G���: <=��&>:?���G568��5�7=6��:(%76G5%�=:�6968�:G��
=�5E>:7��8�&%7%����6":G>��5��S �� �>�"�%��6G�T�%�S ��786?6G�T$��

N�� "��&%���
��	 >6=%��6� 7�� 8����� U6� =%EG� �%�� =�  �?�6G%� ?G���6�<=��
8�G>� >6�7�%E�:G�� ��>V� �" �=%�"�%7%� +�:?����8�?�=?7%G�� >6?6"� �%�? �>�G>*
��IG%�%�=:@AG>���&��I��"76���6>���%;�%>56[?7%�5�8�&%7%�%"���:G>��IG%Q��" �*
=%�"�%7%����?A��: �=��"86�G6@�5���6":G:5��5�(%8�>�(%%�;:��$��

������������������������
���,�?�����7��?�7=��G56��=%��">��%6�47�8��6*�i=����%�6*
6�?7%�&�$��
��� N��$� -����4� �''�!�'ZY$� �� ����8�&%G>��&��  ��7��� =%">��%6� 76��&��:G>��IF� ��&@6;:� ;:F�

�>�6�6��6=���567��S=69�%�5?>6T��"� �@��IG%���=>&8E"�%65AG��%�7�<���7��?�7=��G5���>=$� 6�6"�7?��
47�8��6�U7�<�:��%��"��:G>:�����%%�76��&��:G>�:G�V$��%�7�<�>:�6����>:�U� $�W$�N���6�V��=6965A��9��
7��?�7=��G5�� ���  ��=6">A� "��  �=��5� =��?5%� 6��:��68%>��$� L6���� "�"6F�� 9�� 
��� ?�6@6� ?%E� =�
�?�6��%G��86�6G�� � �86��6�=�����%%�6����6�<=�UG���6�>=%A>�7�>�(67������>?��>:&68��IG%�(�6&������

���;�>� ��":76�<=�=%�8�6�&������=:G�Q�>�;$�� $�1�j����et al. ��������Z�O��V$�

�O�S4 �I�<"��>�G>:�5�"���?A��&<8����%����5�"��?�7�=��U�&<8�:�%��6>:=6������7�<���>��6���:�
?=�5� ��&A� ;:F� ��>�76��� �� =%�8�� �>�G>6G��� 6� 5�"��?�7�=�� ���� 7�<��� �%�� ��&A� ;:F� ��>�76���
B��=%�8�� �>�G>6G�D�� � $� kG>@�=%�7l���9�� ;:F� ��>�76�:� ��=%�8�� �?�;6G��� k	688%6?l� �� 5�"��5VT$�
+�24
�
���4��Herm.���Z6*;�U+�24
�
���4��''���Z�V$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� �Y�

��  �� ��>�G%���
��	 &�����5�	  �=�A� =69�A� "86� =? <@G>�?��5� �6�7%� U�7?*
���?5��68�AV�=��?5E�����%%� �=?>�G��%7<=Q��7�8%G>��IF��6�G>:�%�5A�?:?����� �
( % 8 � > � ( % G > � % � � � % � � � : = % 6 8 � : � �%�>6�6>���� 6 � 7 �= � � � 9 : � � G > � :�$�
� N�=:9?>�� 6�&�����:� ?7@6�%65A� "�� � > � 6 � % 6 �
��	 567��  �"?�6=�=�&��
�6�>E">%6�8�&%G>��5��7? 8%76G5%��&<8�:G�� �5EF��4
�����+��N����0��
3��	�+42��
����
2����\��� %� �+��f���+ ��6>� P� �=>&8E"�%65AG� (67�� >66�&69�=6�%6�
=? <@G>�?��5� �6���6�:7%� %� �6�7%� =� ����8�&%E� 786?� P� 567��  � " ? � 6 *
= �= � & � � � 6 � > E " > % 6 � ( � � � 6 8 � � 5 � � � � � 8 � & %%�X$�

�$O$����	4N��	+�2,��,���
���1���
��0+���,�

� ,�I8%�P� 5�?��  �5EG%��� ����8�&%G>�:��� ��� 5�?�� ��9�  �5EG%��� �� ��>����=6*
�:��  �>�>� ?�6@A�  �=��&�� �%�>6=�"��&�� ?G���6��� =�%�?7�=6�%6� U�%�7�*
�%�G>�%��?G���6���G>:?���8�&%G>��&�V�?��?�=68��&��=�=%�8���;?>6�6G���6G5�*
�68��&�� �:I8��%6� �� I=%�G%�$� ����%G:5�%�� >6G��">%� ��9� %� 8%76G56� �"=����6$�
	��%��7G56��;��%� 8%76G5%�"�?�6�G>6��6?�E �5AG�&���;56I�%��%6��P 5�?�� �5E*
G%�������8�&%G>�:��>6=?>�� %� �:87��=��":�� &":�P� 5�?��  �5EG%��� �� ��>����*
=6�:��  �>�>� ?�6@A�  �=��&�� �%�>6=�"��&�� ?G���6��� =�%�?7�=6�%6� ?��?�*
=68��&��=�=%�8���;?>6�6G���6G5��68��&���:I8��%6���I=%�G%�$	

����
2����\`�� �4
������� �� �+��f����� U��� 	�+42V� ?A�  �"?�6=�=:�%�
 �>:7@6"6�%� �5EF�����8�&%G>�:G���?A������� ��>����=6��� �>�>�?�6@��=%�8��
�%�>6=�"�:G�� %�  �=?>�G��%�� ?��?�=6�:G�� ?G���6�<=� U��&�@V� 8�&%G>�:G�$�
���� �>:7@6":��67%G��?G���6�<=$�Y�

 Regu�a Leibniza��

( )! !

a b

a b
α

α

=

  

������������������������
�X�L�%�?�7� ���� �%�� >6=%��6� ?�&�?�%%� �� >;E"��IG%�  �?>�7%=6[� �9:��G>�:G�� =� ����8�&%%� (��*

�68��5�?:?���<=�8�&%G>�:G��;E"AG:G����>?>��>��%6�%�
���U� $�?:?���<=�8�&%7%� �>�"�%��<=��
786?� %�=@6?��IG%V$�L�EG>�  �>�G%=�%��� �6� &���G%��  �>:5E��&�� ��� >6@�9��%6� �� ?@6;�5� ����8�&%G>��5�
%���� ���6G5%�
��� �?>�7%=6�%6��67%G����>?>��>�[�?A�=� �@�%��>6?6"�%���$�

�Y�L�?G���6�6G�� ��%9�5�?:�;�8��a��b��a���C��an��� ��>����5A�"�=�8����6>=:�%�":=%"��=��
��6>�α��� ��>����5��>"6�%���=�7�<�:��96"�6��676��6>=6��%��=:?�E �5��=�>6?%E&��(��7���6�%����*
?5��68��&�$�4:�;�8�Sα Ua !!bVT��>�6G>6�(����@E��7�<�6� �=?�65��>�(����@:�>"6�%�=�5�α�=�=:�%7��
>6?�A %��%6� �6>=:� b� >6� a� U=� 5�"�:�� 8�;� =� =%�8�� �%�5?G6G�� =:?�A %��%6� aV$� �� 7�8�%� ?:�;�8�
Sα Ux !aVT��>�6G>6�(����@E��7�<�6� �=?�65��>�(����@:�>"6�%�=�5�α�=�=:�%7�� �"?�6=%��%6��6>=:�
a�>6�>�%���A�=�8�A�x$��



+�����,� -�.+
���)

� N�>:7@6"���>6?��?�=6[���5���&�@:�5�?����>���=6�%���=�7�<�:���>�65��:�
=�%�?�7� S+�:?����8�?� ���">%@� ?%E� =� 4�6&%�>�T� �6�  �"?�6=%�� "=<G��  �>�*
?@6��7�� S4�6&%�:�6� 5�?�� �:�� ?6�:��� G��+�:?����8�?T� ��6>� S4�6&%�:�6� ���">%@�
?%E�=�4�6&%�>�T$��

Regu�a Kartezjusza��

( )
U V

!x a
x x a
α

α∃ = ∧
��

� �&�"�%�� >� ��&�@A� 	6���>5�?>6� �>�65��:� =�%�?�7� S�?��%�5�� ��9?6�:� >��
��A� �>�"�%����:I8AG:T��6�  �"?�6=%��  �>�?@6�7%� S,6��:I8ET$�)� ,67�=%��:��
��&�@6��6�5�?��=�<��A���&�@A�?�6�"6�"�=�5�8�&%7%$ 

 Regu�a komprehensji��

( )!

� ���%8��>�%���6� ��%��5�?��=�8�6�=U �U VV

x a
X X x x X X

α
α α∃ ≠ ∅ ∧ ∀ ∈ ⇔

  

�&�"�%�� >� ��&�@A� 7�� �����?5%� �>�65��:� =�%�?�7� S�?��%�5�� �%� �?�6� 786?6�
=?>:?�7%G�� %� �:87��  �>�"�%��<=� �>�G>:=%?�:G�T� �6�  �"?�6=%��  �>�?@6�7%�
S,�?����  �>�"�%����� �>�G>:=%?�:�T$� N�>�"?�6=%��:� ?G���6�� 5�?�� 5�"�A�
>���&�@�=�<��:G��
��� U �"?�6=A�5�5�"�=�"��5�?��"�(%�%G56�786?:� �?��5�� �6*
=���&>:?���G568��5�&����68%>6G5%�%�67?5��6��7�� �����?5%�P�>�;$�?�7G5E��$�V$�

��&�@:�	6���>5�?>6�%�7�� �����?5%�?A�?G���6�6�%��=�7�<�:G��%?����A���8E�
�"&�:=65A� �&<8���  �5EG%6� ����
2����\��� %� �4
�����+� U��� �?�6��%�� 5�?��=:*
�69����=����IG%�7=6��:(%76���6��&>:?���G568��&�VQ�"�"6�7�=��=���&�8��7��*
 �����?5%� %?����A� ��8E� �"&�:=6� �&<8���  �5EG%�� �+��f���+$�L?76>6��� ?G��*
�6�:� �%�567�� 8 � & % � : � % > � 5 A � % G � � �6���68��� �" �=%�"�%7%� 567��  �5EG%6�
����8�&%G>��$�
E�����"E� logicznej legitymizacji poj�cia P�P� �8�&65AGA��6�
=?76>6�%�� ?>���7�� ?��?�=6��&�� %� �%�>6=�"��&�� ?G���6��� =�%�?7�=6�%6��
=�7�<�:��P 5�?���� ��>����=6��� �>�>� �=�A�?�6@A�?G���6���P���9�6�>� �*
=�">��%���>6?��?�=6F�"��?�8�7G5%�=%�8��%��:G�� �5EF$��

��&%G>�6� 8�&%�:�%>6G56� "6��&��  �5EG%6�  � �>�">6� 5�&��  �@�A�� 67?5��6*
�:G>�A� �7? 8%76G5E$��%��68�&���=�5� G�6�67���:?�:7%�  �?>G>�&<8�:G�� ��6 <=�
��5� ��G�"��:�"�?�6�G>6��6?�E �5AG:�� %?�����":�67?5��6�:G>��5��

������������������������
�)��6 �� ���=6�������7��I8��%��S��&�@6�	6���>5�?>6T��6=%A>�5��"��>=�����S��&<8�%���� �"*

?�6=�=�� �=%��">��%�� ��?G6���?6T� �9:=6��&��  �>�>� W$� 4G��8>6� �6� �>�6G>��%�� ��>:� B)D� ?(��*
��@�=6��5�=�?�7G5%�)	U ��$�4.3N��	��%�-��	�L4	���')O�����V$�,�"�6�>�%� 8%76G:5�:G��=��?5%���5�
��>:�5�?��=@6I�%�� �"?�6=A���&�@:�	6���>5�?>6$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� �Z�

��  �"6�%����98%=%�� 7�<�7%�5� 8%?�:� %���%G:5�%�� >��>��%6@:G�� sta�ych Uter-
minów�pierwotnych���%�>"�(%�%�=6�:G�V�=�5E>:7������%%�TQ�

�� = ��=6">��%�� "�� 5E>:76� ����%%� T� terminów wtórnych� =:@AG>�%�� �6�
 �"?�6=%��"�(%�%G5%�?(����@�=6�:G��>6� ���GA�����%�<=� %��=���:G��
8�;�� �>�"�%��>"�(%�%�=6�:G�Q�

�� ?(����@�=6�%�� >6�  ���GA� ����%�<=� ����%%� T 8%?�:� aksjomatów� U��>�
 %��=���:G�V�� G>:8%� >"6[�� 7�<��� ?A� ;�>� "�=�"�� �>�6��� =� TQ� 5�"��*
G>�I�%�� >"6�%6� ���=:"65A� ?%E��G>:=%?��� %��>�6���?A� >6� �6=">%=��;�>�
96"��&��"68?>�&���>6?6"�%��%6Q�

�� �>�6�%�� 567�� tez wtórnych� ����%%�T� =:@AG>�%�� �67%G�� >"6[�� 7�<�����&A�
;:F��"�=�"�%�����6� �"?�6=%��67?5��6�<=��"�(%�%G5%���6>�>"6[�� �>�"*
�%���"�=�"�%��:G��Z$�

� �&�"�%�� >� �A� G�6�67���:?�:7A�� >6@�9��%���"�=�8��5�  ��G�"��:� 67?5��6�:*
>6G5%� "6��&�� >;%���� >"6[� 5�?�� ��98%=�IF� %���%G:5��&�� �;56I�%��%6� ?��?�� %G��
����%�<=�  %��=���:G�$�L�  �67�:G�� ��98%=�IF� �6� G>E?��� =%A9�� ?%E� >�� =?76*
>6�%����6���68��&��? �?�;��G>:�6�%6� �: �=:G��(����@��=�7�<�:G��=:?�E �5A�
��� ����%�:��6� �679��>� �"6�%����: �=:G�� �>:7@6"<=�%G��"�?:&�6�<=�U�=��*
��68�%�� ��9� P� %G�� �: �=:G�� 7���� �>:7@6"<=V$� 
67� �;56I�%���� ��>��%��%��
����%�<=�5�?��(���68�%��=:�69����=�5E>:7�� �>�"�%���=:������%%�T�=� �?�6*
G%�5�5� �"?�6=�=:G��67?5��6�<=�U �?��86�<=�>�6G>��%�=:G�V�%�"�(%�%G5%$���
� ��"6�7�=:����6 ���=%�[G>AG:���;56I�%��%�� ���IG%��7? 8%7�=6�:G�� ���*
�%�<=��6�&���G%��>67?5��6�:>�=6��5�����%%� 5�?��=: ��=6">��%���65;6�">%�5�
G�6�67���:?�:G>�:G�� ��>�=�<��:G�� U=�6>� >� %G�� %���%G:5�A� %���� ���6G5AV� ��6>�
=?76>6�%�� �65;6�">%�5� G�6�67���:?�:G>�:G�� �% ���>� U?�6��=%?7�� >6&6"�%�[V�
=:�6968�:G��=�5E>:7���=�5�����%%$�'��
� N�@AG>��%�� =?76>6��5�  �=:9�5�  ��G�"��:� >�  ��G�"��A� 8�&%G>��5� 8�&%�:*
�%>6G5%� �5EF� ��=6">%�"���7��I8��%6��6?�E �5AG�5� ��G�"��:�aksjomatycznej 
eksplikacji poj�� ontologicznych���

������������������������
�Z�
+�4	���''Y!�')'��O��$�
����"� �5EG%6�
�������+	4,�0+
2��L+��, �68�9:��"�<9�%F�=E9?>��>67��?�=�� �5EG%�� teorii 

sformalizowanej��S
���%E�67?5��6�:G>�A��7�<��5�5E>:7�>�?�6@�?(���68%>�=6�:�%�7�<�6�=: �?69��6�
>�?�6@6�=� �5EG%��"�=�"��(���68��&����6>:=6�?%E�����%A�?(���68%>�=6�AT$�
+�4	���''Y!�')'��O�X$��

�'��"�>�G6�?%E� ��� �>:5��=6�A��%�7%�":� ��>E�metodologicznego� formalizmu� U6�68�&%G>�A�"��
��>:� (���68%>����$�W%8;���6�=� (%8�>�(%%��6���6�:7%V�� >&�"�%�� >� 7�<�A� 5�"�:��>� ��6 <=� (���6*
8%>6G5%� ����%%� 5�?�� � 6 " 6 = 6 � % � � ?��?�� 5�5� ����%���� ? �G:(%G>�:�� >6�  ���GA� ?��?�=�:G��
67?5��6�<=���5� ����%%$�N�>�G%=�%��� �>:5��5�� ?%E���>&�"�%��>�S%���%G:5�:�T� �"�5IG%���1$�
��*
&�&�� %� +$�
6�?7%�&�� �� 9�� %?���A� �67%�5� (���68%>6G5%� 5�?�� � 7 ?  8 % 7 6 G 5 6 � %���%G:5�%�� "6��&��
� �>�"�%��?��?���=:G������%�<=$�



+�����,� -�.+
����

U%V� =:;<��%�%���%G:5����;56I�%��%��>;%���� �5EF� �����"�5AG:G��"���%6�6�
 �5EF�����8�&%G>�:G���

U%%V� 8�&%G>�6�8�&%�:�%>6G56� �5EF�=?76>6�:G��=�U%V��
U%%%V�G>EIG%�=6� (���68%>6G56� ��>�8�6�<=� U%V� %� U%%V� =�  �?�6G%�  ��5�7�<=�

67?5��6�<=�%�"�(%�%G5%��
U%dV� �@�6� (���68%>6G56� 67?5��6�<=� %� "�(%�%G5%� =?76>6�:G�� =� U%%%V� �6�

&���G%��"6��&��?:?�����8�&%7%��
UdV� "�=�":��65;6�">%�5�G�6�67���:?�:G>�:G����>�=�<��:G��=��;�E;%�����*

�%%��>:?76��5�=�U%dV���6>�
Ud%V�=?76>6�%���65;6�">%�5�G�6�67���:?�:G>�:G���% ���>�=:�6968�:G��=�5E*

>:7��?7��?����=6��5�����%%�U�%�;E"AG:G��5�5���>6�%V$�

�$�

�$�$�0��+�2���+�
����+�����
2����\������+��f���+�

� N�>:7@6"����9:G%6� �=:9?>�5�����":�=�����8�&%G��U��V�5�?���7? 8%76G56�
�&<8�:G�� �5EF�����
2����\�����4
�����+�%��+��f���+�U�5$�-2��+����0��*

�0� 	�+42V� =� �;�E;%�� ���6":G>��5� ����%%� %"���:G>��IG%� U"��&%�&�� �>E"�V�

��
$� N��%56�:� ��� U>��=>&8E"�� �6� �&�6�%G>6�%6� S�;5E��IG%�=�T� 6��:7�@�V�
�%�7�<��� ?>G>�&<@:� =?�E �:G�� ��6 <=� U%V�U%%%V$� �&�"�%�� >� �=6&6�%�  �G>:*
�%��:�%�=�  � �>�"�%�5� ?�7G5%�� ��&�@:���%;�%>6��	6���>5�?>6� %� 7�� �����?5%�
?A� �>:7@6"6�%��G>:=%?�:G�� %���%=��?68�:G��?G���6�<=��7�<��� 8�&%�:�%>�5A�
 �5EG%6� �4
�����+� %� 
�f4+0�\��� 567��  �5EG%6� ����8�&%G>��Q� "�"6�7�=���
�?�6��%6�>�=:�%��%��:G����&�@�8�&%�:�%>�5�� �5EG%���+��f���+$� 
� 4@�=�%7� 
��
� ?7@6"6� ?%E� >� "=<G�� �: <=� >�%���:G���  �>�"�%���=:G��
Ux�� x���C��x��y��z��CV� %�786?�=:G��UX�� X���C��X��Y��Z��CV$�
����@:� ��?���

��
� �65A�  �?�6G%� Sx� g� yT�� SX g� YT� %� Sx� ∈YT$� 
����@:� >@�9���� ?A� >;�*
"�=6��� �"�;�%��567�=�8�&%G��?�6�"6�"�=�5Q�"��? �G:(%7%���&��5E>:76��68�9:�
��98%=�IF�=%A>6�%6�>�%���:G��7 8 6 ? � = : G � � �>�>�7=6��:(%76���:$O��
� +7?5��6�:�
��
�?A��6?�E �5AG���

�

�

������������������������
O�� N��%9?>6� 67?5��6�:>6G56� 
��
� 5�?�� �<=��=69�6� >� 8�&%G>�A� ����%A� 786?�  �>�"?�6=%��A�

U=�? �?<;�G>EIG%�=��?(���68%>�=6�:V�=� �"�EG>�%7���
+�4	��B�'X�!����D��?$�ZO��Y$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� �'�

04��� α�� �� %8��α 5�?��04��* �"?�6=%��%��� �6���8�&%%� 786?:G>��&�� �6G���7��

>"6[��

04��� �U∀tVα���αUt !sVO���
04�O� � α Ut !sV���U∃tVα��
04�X� �t�g�s���Uα���α Ut !!sVV��
04�Y� �∀xUx�∈�X�⇔�x�∈�YV���X�g�Y��
04�)� �∀XUx�∈�X�⇔�y�∈�XV���x�g�y��
04�Z� �∃X∀yUy ∈�X�⇔�αV����%8��>�%���6�X��%��5�?��=�8�6�=�α$�

� N�"�;�%�� 567�=� �>: 6"7��?�6�"6�"�=�5� 8�&%7%�� ��&�@6�%�"�"�7G5%� �=%��*
">�[� =�<��:G�� "86� 
��
	 ?A�� modus ponens�� ��&�@6� "� %?:=6�%6� 7=6��:*
(%76���6� �&>:?���G568��&��∃x� U�" �=%�"�%���∃XV� "�� � �>�"�%76� %� 8%76G5%��
7�<��5��6?�E �%7��%��>6=%��6�>�%����5�=�8��5�x�U�" �=%�"�%���XV���6>���&�@6�
"� %?:=6�%6� 7=6��:(%76���6� �&<8��&�� ∀x� U∀XV� "�� �6?�E �%76� %� 8%76G5%��
7�<��5� � �>�"�%7��%��>6=%��6�>�%����5�=�8��5�x�UXV$�
� �6?�E �5AG�� (����@:� 
��
	 ?A� 5�5� ��>6�%� U=� �6=%6?6G��  �"6��� ?A�
? �?�;:� G>:�6�%6� (����@� =?76>�5AG�� �6�  �>:5E�A� ���� ����8�&%G>�A� %���� ��*
�6G5E�
��
V��

B�D� �U∀tVt�g�t�
� �U769":�;:�� 5�?�� ��9?6�:�>� ?�;AQ�=�?�:8%>6G5%����68�&%G>��5�� %"���:G>��IF� 5�?�� ��86G5A�

>=����AV$�

B�D�� ∀tsUt�g�s ��s�g�tV�
� � � U%"���:G>��IF�5�?����86G5A�?:����:G>�AV$�

BOD�� ∀tst’UUt�g�s�∧�s g�t’V���t�g�t’V�
� � � U%"���:G>��IF�5�?����86G5A� �>�G��"�%AV$�

BXD�� U∃tsVt�g�s�
� � � U%"���:G>��IF�5�?����86G5A��%� �?�AV$�

BYD�� UαUtV�∧�∼αUsVV���∼t�g�s�
� � � U5�I8%�t �6�=@6?��IF�α���6>�s��%���6�=@6?��IG%�α�����t�%�s��%��?A���9?6��VO�$�

B)D�� αUs/tV�⇔�∃sUs�g�t�∧�αV�
Ut �6�"6�A�=@6?��IF�=�=�%?��%�5��;:����9?6�:�>�t��7�<�:��6��E�=@6?��IFV$�

������������������������
O�� 0��6>�%����� t�� s� �� ��>����5A� ��� "�=�8��� >�%�����  %��=?>�&�� 8�;� "��&%�&�� �>E"�$�

N�"?�6=%��%��αUt/sV�5�?�� � �6=����&":�? �@�%65A�?�6�"6�"�=��=6���7%� � �6=��IG%��6� ��6"�����
&":� >�%����� t� %� s� ?A� ��&�� ?6��&�� �: �� U�5$� 68;��  %��=?>�&��� 68;�� "��&%�&�� �>E"�V$� N�"�;�%���
>6?�A %��%��αUt//sV�5�?�� � �6=����&":�? �@�%6�?�6�"6�"�=��=6���7%� � �6=��IG%���6>�>�%�����t�%�
s�?A���&��?6��&���: �$�

O��0��6?:�;�8� Hα UtVJ� �>�6G>6� ��� "�=�8�A� (����@E�
��I�� =� 7�<��5� >�%���6� HtJ =:?�E �5��
567��=�8�6$��



+�����,� -�.+
����

� +7?5��6�:�04��*04�Z� &�����5A� 7�� 8������ ��68%?�:G>��� U=� ?��?%�� ��6*
8%>���  �5EG%�=�&�V� %� �7?���?5��68��� =��?5�� 6�:?����8�?�=?7%G�� >6?6"� �%�*
? �>�G>��IG%� %�=:@AG>���&�� I��"76�� 6� �679����%;�%>56[?7%�5� >6?6":� %"���:G>*
��IG%� �>�"�%��<=��%��"�<9�%68�:G��%�7�:���%���%"���:G>��IG%�786?OO��

BZD� �∼∃x∃YUx∈Y�∧�∼x∈YV�
� U�%��%?��%�5�� �>�"�%����7�<�:��68�9:�"��"6��5�786?:�%�>6�6>���"���%�5��%���68�9:V$�

B�D� �∀x∀YUx∈Y�∨�∼x∈YV�
� U769":� �>�"�%����68�9:�"��"6��5�786?:�8�;�"���%�5��%���68�9:V$�

B'D� �x g�y�⇔�∀ZUx∈Z�⇔�y∈ZV��
� U �>�"�%��:�?A�%"���:G>���=�=��68�9A�"���:G��?6�:G��786?V$�

B��D� X�g�Y�⇔�∀xUx�∈�X�⇔�x�∈�YV�
� U786?:�?A�%"���:G>���=�=��68�9A�"���%G�����?6��� �>�"�%��:V$�

 Schemat komprehensji� Uaksjomat definicyjnyV�04�Z� &�����5�� ��>E� �� %?�*
�%��%�� 786?:�  �?��5� U � �>�>�  �"?�6=%��%�� >6� � (����@:� Sy� m� yTV� %� 786?:�
��%=��?68��5�U � �>�>� �"?�6=%��%��>6���(����@:�Sy�g�yTV��

B��D� �U∃X∼∃yV�y∈X��
B��D� �U∃X∀yV�y∈X$�

� �6?��?�=6�%�� zasady ekstensjonalno�ci� U04�YV�"�� (����@�"�(%�%�5AG:G��
786?E� �?�A�%�786?E���%=��?68�A����98%=%6�=: ��=6">��%����>�&@�?>AG:G���9��
%?��%�5��G���65=:9�5�5�"�6�786?6� �?�6�%�G���65=:9�5�5�"�6�786?6���%=��?68�6��

B�OD� U∼U∃yV�y∈X�∧�∼U∃yV�y∈YV���X�g�Y��
B�XD� UU∀yV�y∈X�∧�U∀yV�y∈YV���X�g�Y$�

� 
�>:�������98%=%65A�>"�(%�%�=6�%��?�6@:G�����6":G>�:G���

B�YD� ��g�X�⇔�U∀xVx∈X�
� � � U786?6���%=��?68�6�5�?��786?A�=?>:?�7%G�� �>�"�%��<=V��

B�)D� �∅�g�X�⇔�nU∃xVx∈X�
� � � U786?6� �?�6�5�?��786?A��"��7�<��5��%���68�9:�96"��� �>�"�%��V$�

� N��%�=69���5�?��786?A��%� �?�A�UG��=:�%76�>�BXDV���;�=%A>�5����>6��

B�ZD� ��≠�∅OX�

������������������������
OO�S	�� 8����IFT� �:G��=��?5%� �>�6G>6�� 9�� ?A� ���� >6�7�%E�:�%� >"6�%6�%�� 6� �%�� ?G���6�6�%�

>"6[�� 567� =� 8�&%G�� ?�6�"6�"�=�5$� �� 7�8�%� %G�� ��68%?�:G>�:� G�6�67���� =:�%76� >� (67���� 9�� 7=6�*
�:(%7�=6���?A�=��%G��786?:��6�=%EG� �=��&���: �� �=?>�G��%7%$��

OX�
�>:�B'D�B�YD��%���65A�96"�:G���" �=%�"�%7<=�=�8�&%G��?�6�"6�"�=�5$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� ���

� �6� �"?�6=%��"�(%�%G5%�786?:� �?��5�UB�)DV�� �6=6��&>:?���G568��5�&����6*
8%>6G5%� U04�OV� ��6>� 67?5��6��� 7�� �����?5%� U04�ZV� ��9�6� =: ��=6">%F�
(����@E�;E"AGA� �"?�6=A���&�@:�7�� �����?5%��

B��D�� �α Ux/yV�� ∃XUX ≠∅�∧ ∀xUx ∈�X�⇔�αVV����%8��>�%���6�X��%��5�?��=�8�6�=�α$�

� L�
��
�"6�?%E�>"�(%�%�=6F�=%�8���&<8�:G���" �=%�"�%7<=�>�6�:G�� �*
5EF�����%����&�IG%�=:G�Q����� �>:7@6":��67%G��"�(%�%G5%��

y�∈�ox���C��xnp�⇔�y�g�x��∨�C�∨�y g�xn��

X�⊂�Y��⇔�∀x Ux ∈ X���x ∈ YV��
x�∈ {y���p	⇔�� Uy/xV����%8��>�%���6�x �%��5�?��=�8�6�=����
X�∩�Y�g�ox��x�∈�X�∧�x�∈�Yp��
X ∪�Y�g�ox��x�∈�X�∨�x�∈�Yp��
X�−�Y�g�ox��x�∈�X�∧�¬x�∈�Yp$�

�$�$��	4N��	+�2,�+�
����+���+43�L2N�.�����1��

� L>;�&6G��%��?@�=�%76�����%%�
��
��� �>68�&%G>����7? 8%76�:� �5EF�����*
8�&%G>�:G��  ��=6">%� �"� ����8�&%7%� U��V� "�� (���68��5� ����8�&%%� �7? 8%76*
G:5��5� U�
�V$� N�>:7@6"6�%� �67%G�� �7? 8%76�<=� ?A� ?:�;�8��� S
0T� US786?6�
G�=%8T��S786?6�������<=TV�%�SqT�US � �>�">6T��S5�?��G�=%8A�=G>�I�%�5?>A��"TV$�

���%�:����?A� �I��"�%��8�&%�:�%>�=6��� �>�>� �"?�6=�=��?G���6�:�8�&%7%�
��� ��68��5OY��
�

�6=?>��;:@���67��9��

�5�?��

�;E">%��a
B

B
a   

�6=?>��;E">%���67��9�

�

� �;:@�

?5� ��

a
a

B
B  

� �G��;�> �I��"�%�5� 8�&%�:�%>6G5%�"�?�6�G>65A�>�?�6�"6�:>�=6����" �=%�"*
�%7%� �=:9?>:G��?G���6�<=��

�

�

�5�?�� �=�G�=%8%��;�G��5�

�86�769"�5�G�=%8%� �=G>�I�%�5?>�5��"� %?��%�5��G�=%86� <K�%�5?>6��"� ��=�7�<��5�� �5�?��

a B t
t t t a B

��

�

�

�5�?�� �=�G�=%8%��;�G��5�

�86�769"�5�G�=%8%� � <K�%�5?>�5��"� %?��%�5��G�=%86�=G>�I�%�5?>6��"� ��=�7�<��5�� �5�?��

a B t
t t t a B

�

������������������������
OY�N�"?�6=A��:G��?G���6�<=�?A�67?5��6�:��%�%�68��&��?:?�����8�&%7%���� ��68��5�	t� U>�;$�

1��+�	��%�1+�
������YV$�



+�����,� -�.+
����

4�65�� ?%E� ���6>�=%"�G>���� 9�� �;6� ��>=696��� ��":76�:�� SG�=%8%T� %� S;:G%6�
=G>�I�%�5?>:�T��?A� �I��"�%�� UimpliciteV �� ��>����=6���=� �"6�:G��?G��*
�6�6G��8�&%7%���� ��68��5�U ��":76��S;:G%6� <K�%�5?>:�T���67��5��:����567��
"�(%�%G:5�%��=�<��:��x�5�?��G�=%8A�pó�niejsz���"�y�>6=?>��%��:87��=��":��&":�
x�≠�y�%�x��%��5�?��G�=%8A�=G>�I�%�5?>A��"�yV$��
� 	69"6� ����%6�G>6?��� 5�I8%� 5�?�� �>;6=%��6��7? 8%76G5%� �5EG%6���+43�L2*
N�.�����1�� N����0��
+0��� 5�?�� �7? 8%76G:5�%�� �%�7�� 8���6� =>&8E"���
��&���6���68��&�� �5EG%6�����8�&%G>��&��� �"?�6=�=�&���6G5��68�:���:I8�*
�%������68�:��I=%�G%�$�3=>&8E"�%��%����&��(67��� ��=6">%�"���6?�E �5AG�&��
�;56I�%��%6��czas�5�?��786?A�G�=%8�=: �@�%��:G��U �>�"�%��6�%V�%�� ��>A"7�*
=6�:G����86G5A� � �>�">6�%6O)$��
� L�8�&%G>��5��7? 8%76G5%� �5EG%6���+43�L2N�.�����1�� ���>�;�5��:��"*
 �=%�"�%�&��  ��":76��� temporalnego istnienia�� G>:8%� %?��%��%6�  �>�"�%����
=�"6��5�G�=%8%$�L:"65��?%E��9�� ��":76���67%�5�?��"�IF�G>E?���P�G���65��%�5�
implicite — ?��?�=6�:�=�5E>:7���6���68�:��%�=�5E>:7���6�7%$�39:=6�:�&��
=� ?>G>�&<8��IG%�� &":��<=%�:�� 9���?�;6�� 7�<��5� "��:G>:�"6�6��%?���%6�� (67*
�:G>�%�� %?��%6@6�=� �67%�� 6� �67%�� G>6?%��� G��F� 5�9� �%�� %?��%�5�� U�%�� 9:5�V� 8�;�
&":��<=%�:��9�� �=%���&6����7�>=%��>A�� %?��%6@�=�"6��5�� �G���68�� 5�9��%��
%?��%�5�� U=:�6�@V�� 9��  �=����%6?��� %?��%6@��� 68�� 5�9� �%�� %?��%�5�� %� �67� "68�5$�
����&�� �: �� ?(����@�=6�%6�%� =%A9�� ?%E� �G>:=%?�:� ?G���6�� =�%�?7�=6�%6�
Ut���� ��>����5��=��%�����6K�%�5?>�IFV��

( ) � �

� �

�

�%?��%�5�� =:@AG>�%� �=�G>6?%���"� "��

��%��%?��%�5��=�G�= 8

�

% %�

a t t
t t

a t
< ��

� 4G���6�� ���� ��9�� ;:F� >6 %?6�:� =�  �?�6G%� =�  �@�%� ?(���68%>�=6��5�
U>�?�6�"6�:>�=6��5V�� �� %8�� ":? ���5��:� 67?5��6�:7A� "86�  ��":76���
��� ��68��&��%?��%��%6$�,�I8%�=��67%�5�67?5��6�:G��>=����Sx�%?��%�5��=�G�=%8%�
yT� 5�?�� �� ��>����=6�:�  �>�>� (����@E� Sx�yT�� ��� =�  �@�%� >�?�6�"6�:>�=6�6�
=��?56� �=:9?>�&��?G���6����6� �?�6F��

� �

� �

�

V�

n

U

�

x a x t x t
t t

a t

∀ � < <
<

��

������������������������
O)���(%�%G56� �6� 5�?�� %���%G:5�A�  �"?�6=A� 7��?���7G5%� "=<G�� =��?5%� ����%%��
��  �>�"?�6=%�*

�:G��=�  �6G6G��-�.+
� ���)�� ���)6$��%�G�� %��6�=��?56� ��5� ����%%� >�?�6�%��  �>�"?�6=%��6�=��6*
?�E ��5�?�7G5%$��



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� �O�

� ��">%�?%E� :�6�%���567�=:&8A"6��&<8�6�����%6��7? 8%76G:5�6�P�>;�"�=6�6�
�6�;6>%��
��
	�	;E"AG6��%�%�68�:��?:?������ �?��86�<=��;56I�%65AG:G��
 �5EG%6� �WL����� N�N�����+��+� %� �4
�����+� L� �WL���$� N�>:7@6"��� �67%�5�
����%%�5�?��?:?����
�−� �>�"?�6=%��:� ��%9�5$�
� L� 7��?���7G5%� ����%%�
�−� =:G��">%�:� �"� =>;�&6G��%6� ?@�=�%76� ����%%�

��
��� ��":76�:�S
0T��SqT�%�S�T$�N�>:5��5��:�?7�<�:�"�(%�%G:5����

NUx�V�g�oy� ∃zUz q�x��∧�y�zp��

Ux�V�g�oy� ∃zUx��q�z ∧�y�zp��

�Ux�V�g�oy��y�x�p$�

� �8�����6�%�786?:�NUx�V�?A�=?>:?�7%��%��:87�� �>�"�%��:�%?��%�5AG��=�G>6*
?%��=G>�I�%�5?>:�� �"� G�=%8%� x��� �8�����6�%� 786?:� 
Ux�V�P�  �>�"�%��:� %?�*
�%�5AG��=� G>6?%��  <K�%�5?>:���"� x��� 6� �8�����6�%��Ux�V�P� �>�"�%��:� %?�*
�%�5AG��=�G�=%8%�x�$�	86?E�NUx�V��6>:=6F�;E">%��:�przesz�o�ci�� UG�=%8%V�x���
786?E�
Ux�V�P�przysz�o�ci��x���6�786?E��Ux�V�P�tera�niejszo�ci��x�$��
� �6?�E �5AG�� 67?5��6�:� G�6�67���:>�5A� �&<8�A� ?���7���E� G>6?�� =: �@*
�%���&���

04��*04�Z�U=�=��?5%�=>;�&6G���5���(����@:�>6=%��65AG��?�6@��S
0T��SqT�%�S�TV�

0
0�� x q y ��Ux�∈�
0�∧�y ∈�
0V�

0
0�� x�q�y���∼y q�x�
0
0O� Ux�q�y�∧�y�q�zV���x�q�z�
0
0X� Ux�∈�
0�∧�y ∈�
0V���Ux < y�∨�y < x�∨�x g�yV�
0��� �� x�y���y ∈�
0�
0��� y ∈�
0���∃xUnx ∈�
0�∧�x�yV�
0�O� Ux��y ∈�
0 ∧�NUxV�g�NUyVV���x g�yOZ�

� +7?5��6�:�0
0�*0
0X�?�=%��">65A��9�� � �>�">6�%��5�?����86G5A��7��I*
8��A�=�786?%��G�=%8�U0
0�V�� �>�G%=>=����A�U0
0�V�� �>�G��"�%A�U0
0OV�
%� 8%�%�=A� U0
0XV$� +7?5��6�:� ��� �%�� ?A� G6@7�=%G%�� �����68��� >� (%8�>�(%G>*
��&��  ��7��� =%">��%6Q� �8%�%��5A� ���� ?7�65�%�� �% ����:G>��� S��"�8�� �� �*
8�&%G>��T� G>6?��� �%6��=%G%�� 5�&�� >6�7�%E��IF� UG>6?*�7�A&V� ��6>� ��>&6@E*
>%���IF�UG>6?*=%"@:VO�$���7@6"�%�5��7��G� G56�G>6?�*�7�E&��5�?��=:78�G>��6�
 �>�>� 0
0�� U��9�6� =%EG� <=�  �?��86�� �7��I8%F� �%6���� aksjomatu� otwar-
to�ci� G>6?�V�� 6�7��G� G56�G>6?�*=%"�@�P� �>�>�0
0X�Uaksjomat� liniowo�ci�
G>6?�V$��;%��7��G� G5�� ?A� ��9�=:78�G>����=� 5E>:7���6���68�:�� %�=� 5E>:7��

������������������������
OZ���&�@:�"�"�7G5%�"86�
�−	 �>�?�65A�;�>�>�%6�$��
O��N��$�+3134
2��	��'ZY��Y'$�



+�����,� -�.+
���X

�6�7%$�39:�7�=�%G:� �:G�� 5E>:7<=� �6� �&<@� �"�>�G65A���98%=�IF�� 9�� G�=%86�
 <K�%�5?>6� � �>�">6�=�S7�8��G>6?�T�G�=%8E�=G>�I�%�5?>A$�N�"�;�%����6��&<@�
�"�>�G65A���98%=�IF�UG>6?�*=%"�@V�%?��%��%6�"=<G���<9�:G��G�=%8��>�7�<�:G��
96"�6��%��5�?��=G>�I�%�5?>6��"�"��&%�5O'$��
� 3=>&8E"�%65AG�  �=:9?>�� ? �?��>�9��%�� ��6>� �G>:=%?��IF� 67?5��6�<=�
0
0��U67?5��6��SG�=%8�=�IG%TV�%�0
0O�U67?5��6�� �>�G��"�%�IG%V�� �"6*
�A� 67?5��6�:7E� =�8��� �>�6F� >6� =@6IG%=A� �7? 8%76G5E� �6���68�:G��  �5EF�
�WL����%��WL����L���\���,4��,X�$�
� 0��� ?�=%��">6�� 9��  �>�G%=">%�">%�A� ��86G5%� ��� ��68��&�� %?��%��%6� 5�?��
786?6� G�=%8$� L� I=%��8�� ��>=696�:G�� =G>�I�%�5�  �>:7@6"<=� U"��:G>AG:G��
 �>�?>@�&��8�;� �>:?>@�&��%?��%��%6��?<;��&6���7<=�>=%��>A����%6?���&6867�:7�
%�"$V�� >&�"��IF� 67?5��6��� 0��� >�  �=?>�G��%�� ?��?�=6�:�%� ?G���6�6�%�
��>���=6[�5�?��"�IF��G>:=%?�6$��
� 0���5�?��(���68�:��=:�6>��� �"?�6=�=�5�%���%G5%�>=%A>6��5�>� �5EG%���
G>6?�� =: �@�%���&��� =� 769"�5� G�=%8%� ">%�5�� ?%E�� >"6�>6� 8�;� ��=6� G�I�� G��
G�=%8A� �%�� 5�?�$� ,�?�� ��� =� %?��G%��  �=�6� =��?56� tezy o niesubstancjalno�ci�
U�%�6;?�8����IG%V� czasu�� 769"6� G�=%86� 5�?��=: �@�%��6�  �>�>�  �=%���  �>�"*
�%����%�;E"AG:�G�=%8A$��
� 0�O� "�?�6�G>6� "�"6�7�=�&�� 7�:���%��� %"���:G>��IG%� "86� G�=%8� U �"?�6*
=�=�� 7�:���%����  �>: ���%5�:�� 5�?�� %� 8%7�=6���  �>�>� 67?5��6�� 0
0X��
G�=%8�� ?A� %"���:G>���� &":� 96"�6� >� �%G�� �%��  � �>�">6� "��&%�5V$� 0�O� 5�?��
�<=��=69�:�U � �>�>� �6=6���6�? �>:G5%�%�"��0��&6�6V�>�(����@A��

0�OJ� Ux ∈�
0 ∧�y ∈�
0�∧�x�m�yV���NUxV�≠�NUyV�

� 0�OJ�?�=%��">6��9�� �<9���G�=%8���65A��<9��� �>�?>@�IG%$�N�>: ���%5�:��
9��  �?@�&�5��:� ?%E� ��� ����8�&%G>�:��� 6� =%EG� ��98%=%�� ?>���7%��  �5EG%���
N����0��
3���;�5��5AG:���%���:87�� �"?�6=�=��%�":=%"�6��68����9�=?>�8*
7%��%G��7��;%�6G5����"">%6@:=6�%6�%���6�?(���6G5�$�L��:��7����7IG%��7�:��*
�%���0�OJ�=:"65��?%E�G6@7�=%G%���G>:=%?����%?��%��%��"=<G���<9�:G��G�=%8�
G>6?����=6���&����65AG:G��"�7@6"�%�����?6���S�%?���%�T���%��5�?����98%=�$�

������������������������
O'� N�>�?�6=%6�:�=� �:���%�5?G����=6��A� 7=�?�%E���98%=�IG%� ��>?>��>��%6�
�−	�� 6 6�6���E�

 �5EG%�=A�8�9AGA��� �"?�6=�?��6��:7%�G>6?����>&6@E>%���&��Ubranching time semanticsV$�L��67%��
U�=����68�:�V���>?>��>��%��786?6�
0*G�=%8�?�6��=%@6;:�=:�<9�%��A�U>67��68%>�=6�A����>�G>:*
=%?��%��AV�&6@AK�G>6?�$�

X��+7?5��6�:� 0
0�*0
0X� �" �=%6"65A� ?�6�"6�"�=�5� ?��6��:G�� "86� 8�&%7%� ��� ��68��5$�
L6����  �"7��I8%F�� 9��=� ��&�� ��">65�� ����%6G�� >67@6"6��� 5�?��  �5EG%�� czasu obiektywnego�� G>:8%�
G>6?���7�<��&��������:�%��7��?:���&A�;:F�=��;%�7�:=�:�? �?<;�%"���:(%7�=6���%��%��>����>6�
 ���GA� ?��?�=�:G�� �6�>E">%� U768��"6�>6� %� >�&6�6V$� N���?>6�:� ?%E� ��� =%EG� =� �;�E;%��  ��;8�*
�6�:7%��>=$�-*����%%�U=�?��?%�� �G��">AG:���"�,$0$�$�0G
6&&6��6V$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� �Y�

� 0�9�6� =:76>6F�� 9��  �5EG%6� �WL��� %� �WL���� L2N�.�����, ?A� ����*
8�&%G>�%���<=��=69����

B�'D� x ∈�
0�⇔�∃yUy ∉�
0�∧�y�xV� � � � B>�0����0����04��*OD�

� 
�>6�B�'D��>6?6"�%6��9:=6�%��>=�����S����8�&%6�G>6?��=: �@�%���&�T��6�
�>�6G>��%������%%�
�−$��
� 	��?�7=��G5A�0��� %�"�(%�%G5%� B�)D� 5�?��=6���7�=6� ��>6����6(%>:G>��&��
��68%>����

B��D� 
0�≠�∅���U∃xV¬x ∈�
0$�

� �&�"�%�� >� B��D�� 5�I8%� G>6?� istnieje realnie� U�>�$� 5�?�� �%� �?�:V�� ��� %?��%�5��
G���65��%�5�5�"��� �>�"�%����%�;E"AG:�G�=%8A$�
� �G>:=%?��IF�7��?�7=��G5%�B�'D�%�B��D� ��=%��">6���6(��IF�"�7��6�:G��=�
�;�E;%�� 
�−� �7? 8%76G5%�  �5EF� ��+43� %� ��+43� L2N�.�����1�$� N�5EG%��
��+43�567��>;%����G�=%8�8%�%�=��� ��>A"7�=6��&�� �>�>���86G5E� � �>�">6*
�%6� ;:=6��7��I86����%6���� S?�6�"6�"�=�&�TX�$� ,�?�� �����6� �:8�� �&<8���� 9��
�%�� 7�8%"�5�� 6�%� >�  ���G>�:�%� >=:G>656�%� 5E>:7�=:�%� >=%A>6�:�%� >� �9:*
G%���=:�6><=�S=G>�I�%�5T� U8�;��<=��=69�:G���S �>�"T��S%� ����CTV���6>�
SG�=%86TX���6�%�>�(%>:768�:�� �5EG%���G>6?�$XO��
� ,E>:7�
�−����98%=%6�S��"�8�=6�%�T��%�7�<�:G���&<8�:G��7��G� G5%�G>6?�$�
���� �>:7@6":�(����@��� ��>����5AG:G����>:�=:;�6���7��G� G5���

UW�V� ∀xyUx ∈�
0�∧�y ∈�
0 ��∃zUx�q�z�∧�z�q�yVV�
� UG>6?�5�?��&E?�:V�

UW�V� ∀xUx�∈�
0 ��U∃yVy�q�xV�
� UG>6?��%���6� �G>A�7�V�

UWOV� ∀xUx∈�
0 ��U∃yVx�q�yV�
� UG>6?��%���6�7�[G6V�

�$O$�L�4
���_��0N��2����,�
������\L�+
+���+���1��

� �� %�:G>�A� U��G�AV�=��?5E����6":G>��5� ����%%� G>6?��=: �@�%���&����>�6*
G>��A� ��� ?:�;�8��� S
�T�� ���>:��5��:� =� =:�%7�� ��>?>��>��%6� 67?5��6�:7%�

�−	��"=6�"�"6�7�=��67?5��6�:�U0�X�%�0�YV�&@�?>AG���%9�%?��%�5��G���65��%�5�

������������������������
X����;$�� $��+3134
2��	��'ZY��X�Q����N���������''O���YYQ�.+1�4�����Z��SL ��=6">��%�T$��
X���=�� =:�6>:� 8�;� %G�� ?:���%�:� ?A�  �=?>�G��%�� ?��?�=6��� =� 5E>:7�� �6���68�:�Q� >�;$�

L����-��	+����)!�'')$�
XO���;$�� $�+3134
2��	��'ZY���'��OO��OX��X�$�



+�����,� -�.+
���)

5�"��� �>�"�%���%?��%�5AG:�=�"=<G���<9�:G��G�=%86G����6>�%?��%�5��G���65��%�5�
5�"��� �>�"�%����%�%?��%�5AG:�=�96"��5�G�=%8%�U�5$� �>�"�%��� �>6G>6?�=:V��

0�X� ∃xyzUx�y�∧�x�z�∧�y�q�zV��
0�Y� ∃x∀ynx�y$XX�

�� +7?5��6��0�X� 5�?�� (%8�>�(%G>�A� 7��?�7=��G5A� "�=�8��&�� ��>�8�6��� �;?��*
=6G5%�� 769":� �;?��=�=6�:�  �>�"�%��� %?��%�5�� G�� �65��%�5� =� "=<G�� �<9�:G��
G�=%86G�$� �� 7�8�%� 0�Y� 5�?�� (%8�>�(%G>�A� 7��?�7=��G5A� "�=�8��5� ����%%� �� %*
�:G>��5��7�<��5� %?����A�G>EIG%A� 5�?��6�:����:76�8%G>;��6���68�:G��8�;�%��6� ����%6�
�6���6�:G>�6$���"6�7�=A� �>�?@6�7A�(%8�>�(%G>�A���%�>;E"�A�"��=: ��=6">�*
�%6�0�Y�>��67%�5�����%%��5�?��>"6�%��&@�?>AG���%9�96"��� �>�"�%����6���6�:G>�:�
�%��%?��%�5��=�G>6?%��U"�7@6"�%�5���%��%?��%�5��=�567%�57�8=%�7�G�=%8%VXY$��
� 
�>�;6� ���=�%�� �"7��I8%F��9�� �?@�&�5��:�?%E��������8�&%G>�:���6�=%EG�
��98%=%�� ?>���7%�� �5EG%���N����0��
3� �4
���,e��1��L���+4��$�N�5EG%��
��� �;�5��5�� �%E">:� %��:�%�  ��7�:� G>6?� �>�?��>��%$� L� �:�� ?��?%�� 769"6�
G�=%86� t� 5�?�� =: �@�%��6�  �>�>� G�� �65��%�5� 5�"���  �>�"�%����  �=%���  ��7��
pUt��x��y��zV�G>����=:�%6��=�5�G>6?� �>�?��>��%$�]=� ��7��>�>6@�9��%6��<9�%�
?%E��"�G�=%8%�tQ��:��?6�:��� �?��86��0���5�?��? �@�%��:$	
� L� �"�;�:�? �?<;���9�6�=:76>6F�>&�"��IF�0�O�>��&<8�A�����%A�=>&8E"*
��IG%�� "86� "�=�8��5�  6�:� G�=%8� t��� t��� 5�I8%� t��≠� t��� ��� opUt��x��y�� zV�� t� q� t�p�≠�
opUt��x��y��zV��t�q�t�p�U5�I8%�G�=%8��t��%�t��?A��<9�������>;%��:�=G>�I�%�5?>:G���"�
�%G�� ��7�<=�G>6?� �>�?��>��%�?A��<9��V$�
	 N��?�:�%�7��?�7=��G56�%�0�X�?A� ��>:����%� �?��IG%�786?:�G�=%8�� ��86G5%�
;:G%6�=G>�I�%�5?>:��%���� ��68��5���86G5%�%?��%��%6��

B��D� 
0�≠�∅��

B��D� U∃xyVx�q�y��
B�OD� U∃xyVx�y$�

� 3=>&8E"�%65AG�B��D�%�0�����>�65��:��

B�XD� ∃xUU∃yVx�y�∧�¬x ∈�
0V�
� � � UG���65��%�5�5�"��� �>�"�%����%�;E"AG:�G�=%8A�%?��%�5��=�G>6?%�V$�

������������������������
XX���&�@:�"�"�7G5%�"86�
�	 �>�?�65A�;�>�>�%6�$��
XY�
���<9�%�?%E��"��;��=��?5%��
��U����%%�G>6?��=: �@�%���&�V� �>�"?�6=%��:G��=� �6G6G��

-�.+
� ���)� %� ���)6$�L� ?>G>�&<8��IG%�=� 5�"��5� >� �:G��=��?5%� �;�=%A>�5�� "�"6�7�=:� 67?5��6��
?�=%��">65AG:�G%A&@�IF�%?��%��%6� �>�"�%��<=�=�G>6?%�$��<=�%�9�67?5��6��0�O��<9�%�?%E��"�?=�*
5�&���" �=%�"�%76�=��
��U?�=%��">65AG�&���9��G�=%8��?A�%"���:G>����&":�?A�=: �@�%���� �>�>�
�E� ?6�A� ���6K�%�5?>�IFV�� 6� 0��� 5�?�� ?%8�%�5?>:� �"� ?=�5�&�� �" �=%�"�%76� =��
�� U?�=%��">6*
5AG�&���9��769"6�G�=%86�5�?��=: �@�%��6� �>�>� �=%��� �>�"�%���P��%�7��%�G>�%���<9�%AG:�?%E��"�
"�=�8��5�G�=%8%V$���=��?>G%��=��
���%���;�=%A>�5��0�Y$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� �Z�

� �6?�=6� ?%E�  :�6�%�� �� ��98%=�IF� = ��=6">��%6�  �5EG%6� \L�+
+� ��+�*
��1�� =� 5E>:7��
�$� �� (%8�>�(%G>��&��  ��7��� =%">��%6� =:"65�� ?%E� G6@7�*
=%G%�� �>6?6"�%��6� 5�&�� "�(%�%G56� 567�� 786?:� ��  �>�"�%��<=� %?��%�5AG:G��
=�G>6?%��%��%�;E"AG:G��G�=%86�%��

��g�ox��¬x ∈�
0�∧�U∃yVx�yp$�

� L�"�(%�%G5%���5�"�7���5��?%E�=�%?��G%�����9?6�%��%6�"=<G�� �5EF��\L�+
+�

��+���1�� %� ��������2� N����0��
]L� �4
���,e�2�W� L� ��+4��� U�%�;E"A*
G:G�� G�=%86�%V$� ��? %�6G5E� "�� ��&�� ���9?6�%��%6� ��9�� ?�6��=%F� ��%6�7�*
=6�:� ��68%>�� +�:?����8�?6X)$� ,�"�679�� �65;6�">%�5� =:�6K��� ?(����@�=6�%6�
��5� 8�;� �7��=�:G�� %"�%� >�65"�5��:�=� (%8�>�(%%�=? <@G>�?��5$����� �>:7@6"�
�67%�&��?(����@�=6�%6��

\=%6�� ��68�:�� �67� =>%E�:�� 567� &�� �5��5��:� =� G�">%���:��  �>�"(%8�>�(%G>�:��
"�I=%6"G>��%��� =:"65�� ?%E� �67� ?>G>�&<8�%�� ���&6�%>�=6�:�� 9�� =?>:?�7��� G�7�8*
=%�7�=:?�E �5��=� 5�&�� �;�E;%��� 5�?��=� 567%I� ? �?<;� G>6?�=�� 8�;� 567�I� >=%A>6���
>�G>6?��XZ$�

� �6�  %��=?>:� �>��� �76� ��&@�;:� ?%E� =:"6=6F�� 9��  �5EG%�� \L�+
+� ��+�*
��1�� �=%����;:F�6�68%>�=6����%�� 567��786?6� U=�?��?%��":?��:;��:=�:�V��
8�G>� 567��  �=�6� �����8�&%G>�6� G6@�IF$� �?��%�5A� "=%�� �6G5��  �>��6=%65AG��
 �>�G%=7�� �67%�5� 6�68%>%�$� N��  %��=?>��� &":;:� I=%6�� ��68�:� ;:@� �����*
8�&%G>�A� G6@�IG%A�� ��� 5�&�� G>EIG%6�%� ;:@:;:� �>�"�%��:� �67� �<9����"���� 567�
=:;�G�:� ?� ����=:G��� ?�6G5�� ;��>:��=��� ?7�7%� �6�G%6�?7%�� %�  ��G�?:��:I*
8�=�$� 
6� 7��?�7=��G56� �%��=:"65�� ?%E� "�IF� %���%G:5�6$� ��  �� "��&%���=� �%�*
7�<�:G���?>G>�&<@�=%��%6G���&<8��5�����8�&%%�U� $�=�(%8�>�(%%� �>:��":V� �*
��>�;�5��:� P� �%�>68�9�%�� �"�  �=:9?>:G�� ��>=696[� P�  �5EG%6� 	�40�43�
567�� �=��5�(%>:G>�%��S>=6���5T��G>6?� �>�?��>����5�G6@�IG%�I=%6�6� �>:��":$�
�>%�">%�6� 7�?��?�� =:"65�� ?%E� >6?6"�%G>�� U76��&��%68�%�V� =E9?>6� �"� �%�*
5�"����"��5�">%�">%�:�I=%6�6� ��68��&��U� $�>�%6�:�7�8����=���G��F�?A� ��68*
���� �%����?>A� ;:F�P� %� �6G>�5� �%��  �=%��:� ;:F�P� ��>=696��� 567��  ��G�?:�
 �>:��"�%G>�V$�3��9?6�%65AG��;%��">%�">%�:�� � 6"8%;:I�:�=�?7�65�A�=��?5E�
(%>:768%>��$� �� 7�8�%� �"�<9�%6�%�� "=<G�� �����8�&%G>�:G�� G6@�IG%*I=%6�<=�
�6�6>%@�;:��6?��6�>6�>������9��%6�;:�<=� ��6"� ���>�;E$�
� �"�>�G%F� ��9� ��>�;6� %"�E� �7? 8%76G5%�  �5EG%6� \L�+
+� ��+���1�� 567��
?:?����� ��86G:5��&�$��� �:����">65���6�68%>:�=%A9�� ?%E� >�7�8�%� ���"��IF��%�*
������������������������

X)�N��$� �>: %?�X$�
XZ���1+������'�Z!�'XZ�����$��



+�����,� -�.+
����

6�;%��68��&��=:;�����67%�5�8�;�%���5����%768��5�?���7���:���9?6��5�>��I=%6����
��68�:�$�
��"��IF��E�=� ��?�:�? �?<;���%56�:�� �>:5��5AG� ��?����7��I8��%��
SI=%6�6���68��&�T�567��">%�">%�:� �>�"�%��<=�G>6?�=:G�$�
����>?��>:&�%EG%��
 ��=6">%�"���G>�7%=6��&���"�<9�%��%6���%768��&�� I=%6�6� ��68��&���"� �67%�5�
8�;�%���5�5�&��?���7���:�UG>6?� �>�?��>����5��76�>68��5�%�"$V�
� ��"�(%�%G5%���%�B�XD���9�6�;�> �I��"�%��=: ��=6">%F�7��?�7=��G5E��

B�YD� ��≠�∅�

� � � UI=%6����68�:�S%?��%�5�TQ�"�7@6"�%�5��5�?���%� �?�A�786?AV$��

� 0�9�6�=:76>6F��9��(����@:�W��%�WO�U=?76>6���=�>67�[G>��%�� � �>�"*
�%�5�?�7G5%V��%��?A���>6�%�
�Q�G��>6��:��%">%���
��5�?������%A��%�? �>�G>�A$�
L:�%7�����(����@�5��:�=� �?�6G%����6�=%��">��%6��

0�
+
L�����������$�
��5�?������%A��%�? �>�G>�A$��
��L]��U?>7%G�=:V$�0�*5E>:7�%���� ����5�:�=��6?�E �5AG:�? �?<;��>�%��*
��� �>�"�%���=�� �>�;%�&65A� >;%<�� 8%G>;��6���68�:G���� U6�=%EG�>�%�����
786?�=�� P� =?>:?�7%��  �">;%��:� ��&�� >;%���VQ� ? �G:(%G>��� ?�6@��  �>:5*
��5A��6?�E �5AG��>�6G>��%6�U?:�;�8�S�NT� ��%9�5��>�6G>6�>;%<��8%G>;� 6*
�>:?�:G�V��

a�q/�b�=�=�a��b�∈��N���6>�a�q�b��
a�/b�=�=�b�∈��N���6>�a�r�b��


0/�g��N$ 
� N�>:� ��5� %���� ���6G5%�=?>:?�7%�� 67?5��6�:�
��  �>�G��">A�=� �6=">%=��
>"6�%6� ���6":G>��5� 6�:����:7%� 8%G>;� �6���68�:G�� U"��&%�&�� �>E"�V�� �6��*
�%6?�� (����@:�W�� %�WO�P�=� >"6�%6� (6@?>:=�$� 
:�� ?6�:��
�� 5�?�� ����%A�
�%�? �>�G>�A�U��%8��?:?�������6":G>��5�6�:����:7%�"��&%�&���>E"��5�?���%�*
? �>�G>�:V��G���68�96@��"�=%�IF$�

�+	�h�������

� �>%�">%�6� �>�"�%���=6�����%%�
��5�?���67?:�68�%��?>���7A�786?A$�,�"��*
G>�I�%��769":�����%�� %��=���:�
�	 5�?���7? 8%76���� �=��&�� �5EG%6�����*
8�&%G>��&���
�f4+0�\�����+��f���+���WL�����-2��+��WL��e�L���\���,4�e��
�4
�����+�L��WL���$�
��5�?��>6���� � � � � % A � � � � � 8 � & % G > � A$��
� 
�� 5�?�� ����%A�?7��?����=6�A��6�&���G%��?:?�����8�&%G>��&��U
��V��
7�<�:� 5�?�� " � ; � > � � � & � � � � �= 6 � : � = � � = ?  < @ G > � ? � : G � � � 6 � 7 6 G � �
( � �� 6 8 � : G �$�,�?���������%6�� % � ?  � > � G > � 6 ��6�&���G%����&��?:?����$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� �'�


�� &�����5�� (%8�>�(%G>�%�� (��"6����68�:�  �">%6@�  �>�"�%��<=� �6�  �>�"*
�%��:���68���UG>6?�=�V�%� %"�68���U �>6G>6?�=�V��=:78�G>6� �=���?�6��=%?7��
=�786?:G>�:��? ��>��(%8�>�(%G>�:��U���%�68%>�V���6>�>6=%��6��65�&<8�%�5?>��
��>:� "��:G>AG�� I=%6�6� ��68��&�$� �6����
�� 5�?�� � � � � % A � ( % 8 � > � ( % G > � % � �
� % � � � : = % 6 8 � A $��

4���7���6� 8�&%G>�6� 
�� �">=%��G%�"86� =?76>6�A� =� 6��:7�8�� ?���7���E�
(���68��5� ����8�&%%� ;:���� =� 7�<��5� =6�?�=6� �� %�:G>�6� 5�?�� �6";�"�=6�6�
�6"�=6�?�=A��7? 8%76G:5�A�� 6� �6� >�7�8�%�P��6"�=6�?�=A� 8�&%G>�A$�L�?>G>�*
&<8��IG%�=� ����%%�
�	�;�=%A>�5A� U����8�&%G>�%��>%���� ����=6��V� �6=6�786*
?:G>��5� 8�&%7%�� �%�? �>�G>��IG%�� =:@AG>���&�� I��"76�� �&>:?���G568��5� &���*
�68%>6G5%���%��"�<9�%68��IG%�%"���:G>��&����6>�7�:���%6�%"���:G>��IG%�"86� �>�"*
�%��<=� %� 786?$�
�� 5�?��=%EG� ����%A� ��>=%56�A� �6� &���G%��  �=��&�� ?:?�����
� � � � 8 � & % 7 % � U
��
V$� 
�� >6=%��6� ?�6@��  �>68�&%G>��� P� �WL����� -2��+�

L���\���,4�20� %� �4
�����+� L� ��+4��� P� �� ��>����5AG��  �=���  �5EG%6�
����8�&%G>�����6>�67?5��6�:��7? 8%7�5AG��%G���&<8�:�?��?Q�
��5�?��=%EG���9�
����%A� ��>=%56�A��6�&���G%�� �=��&��?:?������ � � � 8 � & % % � � 7 ?  8 % 7 6 G : 5 *
� � 5 � U
�−V$� ��=��?>G%�� 67?5��6�:�
�	 ?A� >&�"��� >� (%8�>�(%G>�:�%� 7��?�7*
=��G56�%�=%�">:�"�;�>���&�����=6��5�=��6�76G���� %�:G>�:G�$�L�?>G>�*
&<8��IG%�0���%�0�O�?A�>&�"���>� �"?�6=�=:�%�>6@�9��%6�%��&<8��5� ����%%�
=>&8E"��IG%�� 6� ? �G:(%G>��� 67?5��6�:� �&>:?���G568��� U0�X� %� 0�YV� P�
>�"�=�8�A�����%A��� %�:G>�A�>6=%��65AGA����IF��6���6�:G>�A$�L��:��?��?%��

��5�?��?:?��������  % � : G > � � 5 � � � � � 8 � & % % � ( � � � 6 8 � � 5$��
�
�
�

��
�����,��
�
+�24
�
���4$��''�6$�Analityki wtóre.�L��+�24
�
���4$�Dzie�a wszystkie$�
$��$�Kategorie, Her-

meneutyka, Analityki pierwsze, Analityki wtóre, Topiki, O dowodach sofistycznych. N�>�@$�
	6>%�%��>���I�%67���YY�O�Z$�L6�?>6=6��N6[?�=�=��L:"6=�%G�=���6�7�=�$�

+�24
�
���4$��''�;$�Hermeneutyka$�L��+�24
�
���4$�Dzie�a wszystkie$�
$��$�Kategorie, Her-
meneutyka, Analityki pierwsze, Analityki wtóre, Topiki, O dowodach sofistycznych. N�>�@$�
	6>%�%��>���I�%67��))���$�L6�?>6=6��N6[?�=�=��L:"6=�%G�=���6�7�=�$�

+�24
�
���4$� �''�G$�Metafizyka$� L�� +�24
�
���4$� Dzie�a wszystkie$� 
$� �$�Fizyka, O niebie, 
O powstawaniu i niszczeniu, Meteorologika, O �wiecie, Metafizyka. N�>�@$�	6>%�%��>���I�%67��
)����YZ$�L6�?>6=6��N6[?�=�=��L:"6=�%G�=���6�7�=�$�

+3134
2��	���">%?@6=$��'ZY$�Natura czasu$�L6�?>6=6��N6[?�=�=��L:"6=�%G�=���6�7�=�$�
-��
���
�6�G�?G���%�06�����N��-+��$����Y$�Ontology and Metaontology: A Contemporary Guide$�

���"������=���8�%����=�2��7��4:"��:��-8���;?;��:$�
-�.+
��+�"�>�5$����X$�Ontologiczna interpretacja logiki. U podstaw ontologii logicznej$���;8%���

L:"6=�%G�=��30�4$�



+�����,� -�.+
��O�

-�.+
��+�"�>�5$����O$�Ontologia formalna jako teoria eksplikacyjna$���;8%���L:"6=�%G�=���6�*
7�=��16d6&6%$�

-�.+
��+�"�>�5$� ���)$� S�>:�� 5�?�� ����8�&%G>�6� (%8�>�(%6� (���68�6cT$�Przegl�d Filozoficzny� �Y��
�����U'�V��X''�Y�X$�

-�.+
��+�"�>�5$����)6$�S�>:�I=%6�� ��68�:��6� �=��� %?��%�5�c��� �=�:���9:G%������"� (���68*
�:G��=� (%8�>�(%%� G>6?�T$�L��My�li o j�zyku, nauce i warto�ciach. Seria druga. Profesorowi 
Jackowi Jadackiemu w siedemdziesi�t� rocznic� urodzin$���"$�+��6�-��9�7��+8%G56���:;%[*
?76�� 06�%�?>� 1�:&%6�%�G� %� 06�G%�� 
76G>:7�� '����)$ L6�?>6=6�� L:"6=�%G�=�� �6�7�=��
Semper.�

-����4��1���&�$��''Z!�'ZY$�S��8�&%G��"��&%�&���>E"�T$�L��Filozofia logiki$���"$�,6��L�8�[?7%$�
N�>�@$���>6�:��%�I8%[?7%�%�+��6�4%��?>�8?76��'Z����$�L6�?>6=6��L:"6=�%G�=��4 6G56��
��*
"6G56�+8����%6$�

-3�1���06�%�$� �'ZZ$� Treatise on Basic Philosophy$� ��8$� O$ Ontology I: The Furniture of the 
World$����"��G����-�?������$���%"�8$�

-3�	W+��
�� W6�?�� %� -6��:� 40�
W$� �''�$� Handbook of Metaphysics and Ontology$� 0��%G���
N�%8�?� �%6$�

����W�+����+�� �%��$� ���Z$� Formal Ontology and Conceptual Realism$� ��=� 2��7�� 4 �%�&���
���86&$�


�4�����"=6�"$����O$�S�����"�G�%����6��+�%?����8%6����d%d68cT$�L��Aristotle on Method and Meta-
physics$� ��"$� �"=6�"� 
�?���� ��)$� N�%8�?� ���?� %�� �� ��$� W���"�%88?�� -6?%�&?��7��� ��=�
2��7��N688&�6d��06G�%886�$�

1+�-+���� N6=�@�� %� ��;���� 
�2N3�$� ����$�Ontologia poza ontologi�. Studium metateoretyczne 
u podstaw informatyki$���;8%���L:"6=�%G�=��	3�$�

1��4����s�%����$����)!�'X�$�Byt i istota$�N�>�@$����6�6��?76�%�,��>:���=67$�L6�?>6=6����?�:����
L:"6=�%G>:�N+�$�

1��+�	��� �68���%��� %� +�����:� 1+�
��$� ���Y$� S
�� ��68� ��&%GT$�L�� The Stanford Encyclo-
pedia of Philosophy$� ��"$� �"=6�"� �$� �68�6$� ��?�E � �Z$��$���Z$���� ?�!! 86��$?�6�(��"$�"�!�
6�G�%d�?!=%����Y!����%�?!8�&%G*��� ��68!$�

1�j�������%G���L�8(&6�&�
W�0+4� %�
���6?�L��	�� U��"$V$�����$�Automata, logics, and infnite 
games. A guide to current research$���G���������?�%����� �����4G%��G���Y��$�-��8%���4 �%�*
&������86&$�

��1+���������6�$��'�Z!�'XZ$�Spór o istnienie �wiata$�
$��$ Ontologia egzystencjalna$�L6�?>6*
=6��N6[?�=�=��L:"6=�%G�=���6�7�=�$�

���N�����������;%�$��''O$�S��86�%��%?��6�"�
�� ��68�
� �8�&:��N�:?%G?����0��6 �:?%G?cT$�L��
The Philosophy of Time$���"$���;%�����N�%"�d%��%�0���6:�06G-�6�����X'*�)Z$��#(��"���#*
(��"�3�%d��?%�:�N��??$�

.+1�4���06��7$����Z$�Realno�� czasu$�L��G@6=��L:"6=�%G�=��3�%=��?:�����L��G@6=?7%�&�$�
����
�2���6�%�8��$��%���7tu����a	$����X$�Neo-Aristotelian perspectives in metaphysics$���=�

2��7�������8�"&�$�
N+^�� -�&�?@6=$� ����$�Epistemologiczne za�o	enia ontologii Christiana Wolffa$�L��G@6=��L:*

"6=�%G�=��3�%=��?:�����L��G@6=?7%�&�$�
M3����� L%886�"� �6�� ���6�$� �'ZZ!�'ZO$� Filozofia logiki$� N�>�@$� W68%�6� 0���%���$� L6�?>6=6��

N6[?�=�=��L:"6=�%G�=���6�7�=�$�
M3�����L%886�"��6�����6�$��'��$�S
����6�%6;8��6�"�%�?�N86G�������(����G�T$�L��Philosophical 

Subjects: Essays Presented to P.F. Strawson. ��"$��67��6��4��66����U��"$V���)X��ZO$��#(��"��
�86���"���N��??$��

4W+N����� 4��=6��$� �''�$�Foundations without foundationalism. A case for second-order logic$�
��=�2��7���#(��"���#(��"�3�%d��?%�:�N��??$�



�� 
��0+���,� ��
���1��� -2
3� �� ��+43� O��

4.3N��	��� ,��>:�� %���"=%7�-��7�=?7%$� �')O$�Elementy logiki matematycznej i teorii mnogo�ci$�
L6�?>6=6��N6[?�=�=��L:"6=�%G�=���6�7�=�$�

4
�+L4���� N����� 
��"��%G7$� �'��!�'Y'$� Indywidua. Próba metafizyki opisowej$� N�>�@$� -��"6��
��=�"�[G>�7$�L6�?>6=6����?�:����L:"6=�%G>:�N+��

4�3-	+��
6"��?>$��''Y$�SL ��=6">��%�T$�L��Metafizyka w filozofii analitycznej$���"$�
6"��?>�
4>�;76��'��'$���;8%���
�=6�>:?�=���6�7�=��	3�$�


+�4	���+8(��"$��''Y!�'OO$�SN�5EG%�� �6=":�=�5E>:76G���6�7�"�"�7G:5�:G�T$�L��+8(��"�
+�4	�$�
Pisma logiczno-filozoficzne$�
$��$ Prawda$�N�>�@$�,6���:&�������O��Z�$�L6�?>6=6��L:"6=*
�%G�=���6�7�=��NL�$��


+�4	���+8(��"$�B�'X�!����D��Wprowadzenie do logiki i do metodologii nauk dedukcyjnych$�N�>�@$�
0��%76� 4�5G>:[?76$� L6�?>6=6�� N�%8��6���� �''Y$� ��8%���� �68G�8���?$��&$� ��?�E � �Z$��$�
���Z$���� �!!�6�?7%$G68G�8���?$��&$�


+�4	���+8(��"$� B�')'!'YD�� SN�6="6� %� "�=<"T$�L��+8(��"�
+�4	�$�Pisma logiczno-filozoficzne$�

$��$ Prawda$�N�>�@$�,6���:&�������'��OO�$�L6�?>6=6��L:"6=�%G�=���6�7�=��NL�$��

L����-��	+��+��6$� ���)!�'')$� Semantyka. Jednostki elementarne i uniwersalne$� N�>�@$� +"6��
1@6>$���;8%���L:"6=�%G�=���6�7�=��30�4�

L��

�����%?�%6�$��')O!�Z��$�Preliminary Discourse on Philosophy in General�� �>�@$��%G�6�"�,$�
-86G7=�88$���"%6�6 �8%?����"$��-�;;?*0���%88���� 6�:$�

�+����L+1����N����$��''�$�S0��6*����8�&:T$�Erkenntnis�X�������*O���OO��Y�$��������$���O!+��
���YO�O)����)$�

�
�

��
��0+���,���
���1���-2
3�����+43�

4 � � � ? > G > � � % � �

L�6��:7�8��  �5EG%�� ����%%� ����8�&%G>��5� >�?�6@�� >"�(%�%�=6��� >&�"�%�� >� �&<8�:�%� >6?6"6�%�
=:=�">AG:�%�?%E�>����6����8�&%%�+�:?����8�?6$�4(����@�=6��� ��;8���?���7���:�����8�&%%��,67%��
?A�&@<=�������"�8�&%G>��� �: :� >67?5��6�:>�=6�:G�� ����%%� ����8�&%G>�:G�� %� 567%�� �"?�6=�=��
��86G5��>6G��">A��%E">:��%�%c��6�=69�����9��>6�<=���=���6":G:5��5��567�%�=��=? <@G>�?��5�(%8�*
>�(%%�;:���"6�?%E�=:�<9�%F���>:��"�%�����%"���(���68��5�����8�&%%��8�&%G>��5���7? 8%76G:5��5�%���*
 %�:G>��5$���8� �6G:�5�?��"=�567%���V�=?76>6�%��5�"��8%��5�7��G� G5%�(���68��5�����8�&%%��=>&8E"*
�%65AG�5��=��%"���%�"�?�6�G>65AG�5���>=%A>6�%6� ��;8����?���7���:�����8�&%%���6>��V�>6?��?�=6�%��
=?76>6��5�7��G� G5%�=�7��?���7G5%� �"?�6=�=:G�� �>:7@6"<=�����%%�;:���%�G>6?�$�+��:7�@�?7@6"6�
?%E�>��6?�E �5AG:G��?�7G5%��L ��=6">��%�$��$�$�
�>:�7��G� G5������8�&%%�(���68��5$��$�$�������8�&%%�
8�&%G>��5$��$O$����7? 8%76G:5��5�����8�&%%�(���68��5$��$�$�0��6":G>�6�����%6�%"���:G>��IG%� %��6*
8�9��%6$� �$�$� �7? 8%76G:5�6� ����%6� G>6?�� =: �@�%���&�$� �$O$� L� ?����E� �� %�:G>��5� ����8�&%%�
I=%6�6���68��&�$��67�[G>��%�$�

�
�

���
W��
��0+����
���12��
�-���1�+���
�0��

4 � � � 6 � : �

������� 6 �������G��G� ���(�����8�&%G68������:�%?�"�(%��"�6GG��"%�&��������&����68� �%�G% 8�?��(�
+�%?����8%6�����6����8�&:$� 
��� (�88�=%�&� b��?�%��� G��G���%�&� ���� ?���G����� �(� ����8�&:� %?� (��*
��86��"��L�6�� 6��� ���� �6%�� �����"�8�&%G68� �: �?� �(� 6#%��6�%G� ����8�&%G68� �����%�?� 6�"� =�6��
;6?%G� ��86�%��?�% ?��GG���;��=���� ����c� ��� %?�����"� ��6�� ������6��� ������"%?�%�G�� %"�6?��(� (���68�
����8�&:�%��;������6"%�%��68�6�"�6�68:�%G� �%8�?� �:��8�&%G68���# 8%G6�%d���6�"��� %�%G68�����8�&:$�

���6%���(� ���� 6 ��� %?� �=�(�8"���V� ��� %�"%G6���6�����&�����?�G��G� ���(�(���68�����8�&:� ��6��



+�����,� -�.+
��O�

�67�?�%����6GG��������?��%"�6?�6�"� ��d%"�?�6�?�8��%����������b��?�%����(�����?���G������(�����8�&:��
6�"��V� ����?�� ��%?�G��G� ��(��� ����G��?���G�%����(�;6?%G��#6� 8�?��(� �����%�?��(�;�%�&�6�"��%��$�

��� 6 ���G��?%?�?��(�����(�88�=%�&�?�G�%��?�������"�G�%��$��$��
�����G��G� �?��(�(���68�����8�&:$�
�$�����8�&%G68�����8�&:$��$O�����# 8%G6�%d��(���68�����8�&:$��$��0��6"%G�?�G��"���"��������:��(�
%"���%�:�6�"����;��?�% $��$���# 8%G6�%d�� �����:��(�(%88�"��%��$��$O�
�=6�"?� ������ %�%G68�����*
8�&:��(���68�=��8"$����G8�?%���
�
�
�����	 ���������	  �5EG%6� ����8�&%G>��Q� ����8�&%6� 8�&%G>�6Q� �7? 8%76G:5�6� ����8�&%6� (���68�6Q�

�� %�:G>�6�����8�&%6�(���68�6Q����6":G>�6� 8�&%76�"��&%�&���>E"�Q�G>6?�=: �@�%��:Q�I=%6��
��68�:$�

���	�����������8�&%G68����%��?Q�8�&%G68�����8�&:Q��# 8%G6�%d��(���68�����8�&:Q��� %�%G68�(���68�
����8�&:Q����6"%G�?�G��"���"���8�&%GQ�(%88�"��%��Q���68�=��8"$�

	
	

� ��!�"#��	 �$��"	 ��"%���	N��($� ��$� �6;$� +�����,� -�.+
P�� 6������� �(� N�%8�?� �:� 6�� ����


6G�8�:� �(� +"�%�%?��6�%��� 6�"� 4�G%68� 4G%��G�?� �(� ���� L6�?6=� 3�%d��?%�:� �(� 
�G���8�&:Q�
6""��??� (��� G����? ��"��G��� N8$� N�8%��G��%7%� ��� N�� ��*))�� L6�?>6=6Q� �*�6%8�� 6$;%86�R6�?$�
 =$�"�$ 8	

	
�




